School District of the City of Niagara Falls, New York

630 - 66" Street ¢ Niagara Falls, NY 14304
(716) 286 — 4211 ¢ Fax (716) 286 — 4283

TO: Parents
FROM: Mark R. Laurrie, Superintendent

RE: Continuous Learning Options for Students
DATE: March 24, 2020

District staff prepared the enclosed materials for parents and students to use during

this prolonged school closure event. This work is for reinforcement and practice
only, and includes both assignments for students to complete in hard copy, and a
menu of District online learning tools accessible from home. The website and
software chart is also posted on the District’s COVID-19 Crisis Channel under
Parent and Student Resources. These packets are generic by grade level, and may
be used to supplement other at home activities, such as reading aloud and playing
games with your child, as well as in addition to individual suggestions or
assignments sent to families and students from their home schools. Students are
encouraged, to complete the activities herein and to use the online learning tools
appropriate for their grade level several times per week.



Directions:

*There are six reading passages with corresponding questions included
in this packet. We recommend having your child try to complete at
least two passages a week. Feel free to use additional paper if needed
when answering the short response questions.

*A calendar book log has also been included in this packet. Your child
can record the title of the book read in the appropriate day’s box and
the # of minutes read in the space provided. Please encourage your
child to read for at least 20 minutes daily.

*Enclosed are six writing prompts. Your child shouid continue to
practice writing in the various genres. Specific details on what should
be included are on each page.
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Name Date

Expository Essay Writing Prompt

Expository essays are often called how-to essays. They usually teach the
reader something or provide facts about a particular topic.

Explain three of the best steps kids can take to be safe online







Name Date

Expository Essay Writing Prompt

Expository essays are often called how-to essays. They uonIIy teach the
reader something or provide facts about a particular topic.

Write an essay fo a 5t grade student explaining two or three key
strategies for having a positive éth-grade experience.







Name Date

Persvasive Essay Writing Prompt

Persuasive essays are those written to convince another person to agree
with the writer or take action.

Advertising can have a powerful impact on consumers. What is a product
that you've seen advertised that you don’t think should be? Explain
why the media should quit showing these ads.







Name Date

Persuasive Essay Writing Prompt

Persuasive essays are those written to convince another person to agree
with the writer or take action.

What is your favorite book of all time? Write an essay convincing a
producer to make a movie about it.







Name Date

Narralive Essay Writing Prompt

Narrative essays tell a story based on a student’s personal experience.
They encourage students to use descriptive writing to reflect on their
experiences, explain them in a logical manner, and draw conclusions
from them.

Have you thought about what you want to be when you grow up? Write an
essay explaining why you think you'd like that career.







Name Date

Narrative Essay Writing Prompt

Narrative essays tell a story based on a student’s personal experience.
They encourage students fo use descriptive writing to reflect on their
experiences, explain them in a logical manner, and draw conclusions
from them.

This is your last year of elementary school. What are you most excited or
most nervous about when you think of starting middle school?
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The Cells That Make Us

by ReadWorks

Nucleus

Nuclear pore \
Chromatin \
Nuclear envelope | \

Nucleus \
Nucleolus \\\
N\ \
\

X

_ Peroxisome
- 4
- Microtubule
" _ lysosome
-
_ Free Ribosomes

_. Mitochondrian

: iate Fi
Flasma misribiine Intermediate Filaments

Golgi vesicles —

{golgi apparatus)
Ribosomes -
Rough endoplasmic reticulum
Smooth endoplasmic reticulum _
Actin filaments

~ Cytoplasm
\Secretory vesicle

Centrosome
(with 2 centrioles)

- Flagellum

"Mom, I'm hurt," said Mike.

"What happened?" asked Mike's mom.

"I stumbled and fell while playing football at the playground today. | scraped my knee," said Mike.
"You poor dear. Here, let's put a Band-Aid on your knee," said his mom.

Mike's mom gingerly wiped his bleeding knee with a wet cloth and pasted a Band-Aid on it. Mike
wondered aloud, "Our bodies are made of arms and legs. The arms and legs are made of blood and
bones. But what are these blood and bones made of?"

Mike's mom replied, "Everything in our body is made of small units called cells. Think of it this way.
Just like hundreds of thousands of bricks form a house, millions of cells form our muscles, bones,
skin, and hair-eventually coming together to form the human body."

As Mike looked at his bandaged knee, he wondered, "Wow, can | see these cells?"

"You cannot see most of your cells with the naked eye," said his mom. "A cell is small. A cell is the
smallest unit that can be said to be alive. You can see a lot of cells through a microscope."

"So, every part of my body consists of cells?" Mike said.
"Yeah. Not just your body, mine too," said Mike's mom. "Your pet dog, Tommy? He's made of cells.

r I? J
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storeroom. Every creature on Earth is made of cells, just like you and me."

"Wow, so an ant or an amoeba is built up of cells, like Lego blocks?"

“The ant, yes, sort of like Lego blocks. But some creatures have just a single cell, like an amoeba.
They are called unicellular organisms. Other creatures, like us human beings, are collections of cells.
These are called multicellular organisms. Multiceltular organisms can range in size from brown algae
to large animals like elephants and whales, which have triflions of cells."

"But what does a cell look like?"
"A cell consists of different parts.”
"Like what?"

"So you know how you have different parts of your body that are responsible for different activities?
For example, your legs help you move, your stomach helps you in digestion, and your eyes help you
see. Well, different parts within cells are responsible for different functions. These different parts
perform the activities that keep the celi alive."

"Wow, so how does a cell stay alive?"

"The different parts of the cell work together to keep the cell alive. Many cells have a nucleus. The
nucleus is the 'brain' of the celi. It controls and coordinates all activities of the cell. The nucleus is
surrounded by the nuclear membrane, which heips to protect the nucleus. In addition to the nucleus,
many cells have some other parts. All the parts of the cell are contained within a cell membrane. This
is the outer covering of the cell. The cell membrane can allow certain substances, like nutrients and
water, fo enter the cell. It also can let out waste and even block out some unwanted substances.”

"It's so cool that the cell membrane can let in some things and block other things."

"Yeah. Then, between the nucleus and the cell membrane, there is the cytoplasm, which is a gel-like
fluid that fills the area. And some other parts of the cell are located in the cytoplasm. Like the nucleus
and cell membrane, each part has structure and function.”

"Wow. Cells are like machines! What powers them?"

"Energy production usually happens in a part of the cell called the mitochondrion. Not all cells have
mitochondria, but a lot of cells do. Mitochondria are usually round or oval-shaped. Sometimes they
are shaped like kidney beans. Mitochondria convert food into chemical energy for the cells."

"Do we use this energy, too?"

"Absolutely. The accumulated energy in a lot of the trillions of cells in the average human body help to
give us energy. It helps us have the strength to move our arms and legs, to think, and to live."

"Wow. So the cells work together?"

"Yeah. A group of human cells band together and form a tissue. There are four main types of tissue in
humans. Connective tissues include blood or bones. These form connections between structures in
the body. Muscle tissues form muscles, which help us move. Nervous tissues are in the brain, spinal
ReadWorks.org - © 2014 ReadWorks®, Inc. All rights reserved, .
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cord, and nerves. This type of tissue helps to control many body activities. Epithelial tissues are
tissues that line or cover the different parts of the body. This type of tissue has various functions, such
as protecting and filtering.”

"So many cells make up different types of tissues, and the tissues have different functions in our
body?"

"Exactly! The tissues are specialized for different functions, so the cells of one type of tissue work
together in unison. For instance, all the cells in the muscle tissue in your calf muscles work together
to help you walk or run."

"And the tissues in my biceps help me wave my hand," said Mike, waving his hand from side to side.

"That's not all," said Mike's mom. "Various types of tissue in your body team up to make an organ.
Organs perform specific functions in your body. For example, your heart is made of all four types of
tissue. All of the tissues in your heart work together to pump blood through your body. The heart is
one of five vital organs in humans. The other vital organs are the brain, kidneys, liver, and lungs."

"So these organs are important in keeping me alive?" asked Mike.
"Yeah, and each organ performs its specific function because of the tissues that constitute it."
"And the tissues are formed by cells! That is so cooi!"

"That's right. Just about everything a person does is thanks to the teams of ceils that make up the
tissues that make up the organs!"

"Wow! Unlike a football team competing against other teams, all the teams in the human body work
together. That is amazing!"

ReadWorks.org - @ 2014 ReadWorks®, Inc. All rights reserved,
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Name: Date:

1. According to Mike's mom, what is a ceil?

A. a multicellular organism
B. the smallest unit of life
C. a type of tissue

D. a gel-like fluid

2. How does Mike's mom compare the cell membrane and the nuclear membrane?

A. Both the cell membrane and nuclear membrane are coverings.
B. Both the cell membrane and the nuclear membrane controls the cell's activities.
C. Both the cell membrane and the nuclear membrane let out waste.

D. Both the cell membrane and the nuclear membrane allow substances to enter the
cell.

3. Read the following sentences from the text.

"But some creatures have just a single cell, like an amoeba. They
are called unicellular organisms. Other creatures, like us human
beings, are collections of cells. These are called multicellular
organisms. Multicellular organisms can range in size from brown

algae to large animals like elephants and whales, which have
trillions of cells."

What can be concluded about cells based on this information?

A. Unicellular organisms were once part of collections of cells.
B. Cells in multicellular organisms are stronger than unicellular organisms.
C. Cells can only support life if they are part of a multicellular organism.

D. Some cells can support life independently. Other cells support life collectively,

ReadWorks.org + ® 2020 ReadWeorks®, Inc. All rights reserved.
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4. Read the following sentences from the text.

"A group of human cells band together and form a tissue. There
are four main types of tissue in humans. Connective tissues
include blood or bones. These form connections between
structures in the body. Muscle tissues form muscles, which help
us move. Nervous tissues are in the brain, spinal cord, and nerves.
This type of tissue helps to control many body activities.
Epithelial tissues are tissues that line or cover the different parts
of the body. This type of tissue has various functions, such as
protecting and filtering."

Based on this information, what can you conclude about tissues?

A. All tissues in the body have similar functions.
B. All tissues band together to form cells.
C. Each type of tissue has a different function.

D. Some tissues are more important than others.

5. What is this text mostly about?

A. how the parts of cells, tissues, and organs work together
B. the importance of mitochondria in the life of a human being
C. how tissues are made from groups of cells to serve different functions

D. the differences between unicellular and multicellular organisms

ReadWorks.org - @ 2020 ReadWorks®, Inc. All rights reserved.
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6. Read the following sentences from the text.

"That's not all," said Mike's mom. "The organs in your body are
made of various tissues. For example, your heart is made of all
four types of tissue. All of the tissues in your heart work together
to pump blood through your body. The heart is one of five vital

organs in humans. The other vital organs are the brain, kidneys,
liver, and lungs."

"So these organs are important in keeping me alive?" asked Mike.

"Yeah, and each organ performs its specific function because of
the tissues that constitute it."

As used in this sentence, what does the word "constitute” most nearly mean?

A. take away from something
B. give something energy
C. make up the parts of something

D. change in shape or size
7. Choose the answer that best completes the sentence below.

one type of tissue in the heart by itself cannot pump blood through the

body, a collection of the four types of tissue in the heart can work together as an organ
to pump blood.

A. Thus
B. Although
C. Above all

D. For instance

ReadWorks.org - © 2020 ReadWorks®, Inc. All rights reserved.
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8. What is an organ made of?

9. Why are all the different parts of the cell necessary?

10. Explain how different parts of a human being work together in unison. Use evidence
from the text to support your answer.

ReadWorks.org - © 2020 ReadWorks®, Inc. All rights reserved.
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Wired World

A new report shows more people are online than ever
before.

"Everyone who uses the Internet, please stand up!" If that message could be heard all over the world
at the same time, how many people do you think would stand up?

AFP/Getty Images

Kids in China learn how to use the Internet.

The answer is almost two billion, or nearly one-third of all human beings on the planet. That number
comes from the International Telecommunication Union (ITU). Since 2005, the number of people who
have access to the Internet through cell phones or computer use has doubled. To have access to
something is to have the ability to use it. The Internet is a communications system that connects
computers around the world.

Countries in the Lead

A growing percentage of the world's Internet users access the Internet not through their computers,
but with their cell phones. According to ITU, there were an estimated 5.9 billion cell phone
subscriptions in 2011. Mobile phone networks are now available to 90 percent of the world's
population.

ReadWorks.org
Copyright © 2009 Weekly Reader Corporation. All rights reserved. Used by permission. Weekly Reader is a registered trademark of Weekly Reader Corporation.
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J. Carrier/Getty Images

In Kenya, cell phones are growing in popularity with schoolchildren.

J. Carrier/Getty Images- In Kenya, cell phones are growing in popularity with schoolchildren.

The wealthier nations of the world have the most people using the Internet. Poorer nations have the
fewest Internet users. The biggest difference in Internet use between the richest nations and the
poorest nations is called the global digital divide. However, the digital divide is getting smaller. Of the
226 million new Internet users added in 2010, , most (162 million) came from the world's poorer
countries.

Who are the digital leaders? Sweden comes in at number one. The country is followed by
Luxembourg, South Korea, Denmark, the Netherlands, Iceland, Switzerland, and Japan. The United
States comes in at 19.

Kids Surf
How has this rapid, or quick, growth in Internet use affected young people around the world?

Toshie Takahashi, a professor who specializes in how young people relate to the Internet, spoke to
WR News.

"Kids can ... communicate with each other using the Internet. ... National boundaries are no barrier."
A barrier is something that blocks something else. Takahashi says there are some kids who have
mixed feelings about the Internet. "It is good in that they can easily make friends, play games, and do
other things with kids even on the other side of the globe. But the Internet can be harmful, they say,
because it leaves them open to cyberbullying and other harmful things. In general, though, for kids,
the Internet has shrunk the world. It does not seem like such a big place anymore."

Takahashi thinks that increasing Internet use has led to a better understanding between young people
worldwide. "Kids all over the world love American pop music and pop culture,” she says. "And an
increasing number of American kids are ... learning about pop culture in other countries. | interviewed
a U.S. teen who is fascinated with Japanese animation, for instance." To be fascinated is to be
excited about something or someone.

Takahashi says that, especially in Asia, more kids use cell phones to access the Internet than

ReadWorks.org
Copyright © 2009 Weekly Reader Corporation. All rights reserved. Used by permission. Weekly Reader is a registered trademark of Weekly Reader Corporation.
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computers. "In China, for instance, they don't have a lot of public access to the Internet, but they have
a huge number of cell phones capable of downloading a lot of data quickly. In Japan, ... students
research and write papers using their cell phones alone!"

Who Invented the Internet?

U.S. Department of Defense members were the first world's "Webmasters."

akg-lmages/Newscom

This early computer isn'f exactly a lap top! It was bullt in 1945 at the University of Pennsylvania.

The department created the Advanced Research Projects Agency Network (ARPANET). That was a
network of university and U.S. military computers. ARPANET machines could share information and
"talk" to one another. By 1981, approximately 200 computers were on the network.

After the World Wide Web was created in 1991, ARPANET and other networks joined to form what we
know today as the Internet.
America, Online

Ever wonder how the Internet works? Browse through the time line to learn about some major
moments in the Internet's history.

ReadWorks.org
Capyright © 2008 Weekly Reader Corporation. All rights reserved. Used by permission. Weekly Reader is a registered trademark of Weekly Reader Corporation.
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ReadWorks’ Wired World - Comprehension Questions

Name: Date:

1. According to the passage, which of the following countries comes first on the list of
digital leaders?

A. South Korea

B. Luxembourg

C. United States

D. Sweden

2. The passage describes Internet use around the world. How many people around the
world use the Internet?

A. about one-half of all humans
B. about 200,000 humans

C. about one-third of all humans
D. about 3 million people

3. Based on the passage, why do the wealthier nations most likely have the most
people using the Internet?

A. Wealthier nations offer the Internet for free to people.
B. Wealthier people can afford to buy the technology to access the Internet.

C. It is cheaper in wealthier nations o access the Internet.

D. People in poorer nations do not like to use the Internet,
4. Read the following sentence:

"Kids can ... communicate with each other using the Internet. ... National boundaries
are no barrier."

As used in the passage, what does "communicate" mean?

A. see
B. travel
C. talk

D. ignore

ReadWorks.org - © 2020 ReadWorks®, Inc, All rights reserved.
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5. What is the central idea of this passage?

Wired Warld - Comprehension Questions

A. the Internet can be accessed from anywhere in the world
B. how to fix the digital divide

C. the Internet is used by many people around the world
D. how the idea of the Internet was created

6. What is the global digital divide?

7. Based on the passage, what does Toshie Takahashi most likely mean when she says
that the Internet has shrunk the world?

8. Choose the word that best completes the sentence.

Students in Asia use their cell phones to research and write papers

there isn't a
lot of public access to the Internet in those countries.

A. after
B. but
C. because

D. so

ReadWorks.org - @ 2020 ReadWorks®, Inc. All rights reserved.
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Arachne the Weaver
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illustration of Arachne

It may seem difficult to take Greek myths seriously. After all, they tell of angry gods, dueling
goddesses, snake-haired women, and beasts consisting of both animal and human parts. But
mythology was a significant influencing factor in the day-to-day lives of the people of ancient Greece.
They didn't have televisions or the Internet. There was no Google then, no encyclopedias, and no
way to look some piece of information up quickly and learn it. Instead, the ancient Greeks turned to
stories and legends to understand how the world around them operated. They used myths to explain
the things they didn't understand, like thunder and earthquakes. And they used myths to make scary
things seem less frightening. Over time, myths changed, and their events and details varied from one
telling to the next, but their narrative outcomes remained largely the same.

Mythology, in the time of ancient Greece, was used not only to explain various phenomena that we
now understand via scientific truths, but to account for the origins of humankind. It answered
questions like, "What happens after death?" and, "Why does humanity exist at all?" Myths were also
often entertaining, and sometimes humorous and intriguing; remember that there weren't TV
episodes or movies in ancient Greece, so people had to entertain themselves in other ways. But more
than that, myths told people how to live, and how to tell right from wrong. These stories included
morals intended to teach valuable life lessons and instill ethics in their readers.

Take, for instance, the story of Arachne. Arachne was a young girl famed in her region for her
spinning and weaving. Her cloth was said to be the softest and fairest of any in the land-so fine that

ReadWorks.org - © 2015 ReadWorks®, Inc. All rights reserved.
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some believed it to be spun from gold. Because of her skills, Arachne was prideful. She thought
herself the best spinner and weaver in the world, and she was certain that no one could match her
talents and gifts.

One day, an old woman walked past Arachne weaving on her loom and asked her, "Who taught you
to weave so well?"

Arachne replied that she had taught herself, and that she was the best spinner and weaver in the
world.

"But perhaps Athena, the goddess of craft and weaving, taught you to spin and weave without your
knowing it?"

Arachne, in her vanity, replied, "No, not even Athena is as good as | am."

The old woman then tore away her disguise and revealed herself as Athena. She was enraged that a
mortal could be boastful and would dare to compare herself to a goddess. And so, Athena challenged
Arachne to a spinning and weaving contest. The rules of the contest were simpie: each woman would
weave a tapestry, and Zeus, king of the gods, would act as the judge. If Arachne won, Athena would
never weave again. And if Athena won, Arachne would never spin or touch a loom for the rest of her
life.

Hundreds gathered to watch the two women weave. Arachne wove a cloth from the finest silk. It was
said that the cloth was so fine it could barely be felt, but that it had the strength to hold a hundred
men. On the cloth, Arachne depicted the failings of the gods, portraits of the gods acting immorally
and foolishly.

Athena, on the other hand, is said to have spun with sunbeams, the sky, the fields, and the clouds.
She wove a tapestry that showed the gods in all their strength and glory, praising them for their
splendor.

It was obvious that Athena's cloth was more spectacular than Arachne's. Even Arachne, upon seeing
Athena's tapestry, hid her face in her hands in shame.

[n one version of the myth, Athena shredded Arachne's cloth into pieces when she saw how the girl
had insulted the gods. But both women knew who the victor was, and Arachne realized that she
would never be able to touch a loom again.

Ashamed and devastated at her loss, Arachne attempted to kill herself. Athena, taking pity on
Arachne, stopped her. Athena insisted that Arachne remain true to her word and never again spin or
touch a loom. Athena then transformed her into a spider so that she could continue to spin and weave
beautiful tapestries. All spiders, in Greek mythology, are said to be the children of Arachne.

This particular Greek myth served to warn against the dangers of pride and vanity, as well as caution
those seeking to compete against or humiliate the gods.

ReadWorks.org + € 2015 ReadWorks®, inc. All rights reserved.
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Arachne the Weaver - Comprehension Questions

Name: Date:

1. What did the ancient Greeks turn to in order to understand how the world operated?

A. books and encyclopedias
B. gods and goddesses
C. stories and legends

D. rulers and laws

2. What does the author describe in the article?

A. the role of mythology in ancient Greece
B. the importance of theater in ancient Greece

C. the origins of humankind according to Greek mythology
D. how ancient Greek myths changed over time

3. "[M]ythology was a significant influencing factor in the day-to-day lives of the people
of ancient Greece."

What evidence from the text supports this statement?

A. "Myths were [...] sometimes humorous and intriguing[.]"
B. "[M]yths told people how to live, and how to tell right from wrong."
C. "[The ancient Greeks] didn't have televisions or the Internet."

D. "Over time, myths changed, and their events and details varied]...]"

4. Based on the story, how can Arachne be described?
A. Humble and kind
B. Clever and generous
C. Talented and insecure

D. Vain and disrespectful

5. What is a main message of the story of Arachne?

A. The gods are immoral and foolish.
B. People should keep their talents secret.
C. People should not be vain or prideful,

D. Gods and humans are equally talented,

ReadWorks.org - © 2020 ReadWorks®, Inc. All rights reserved.
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6. Read these sentences from the text.

"On the cloth, Arachne depicted the failings of the gods, portraits of the gods acting
immorally and foolishly.

"Athena, on the other hand, is said to have spun with sunbeams, the sky, the fields, and
the clouds. She wove a tapestry that showed the gods in all their strength and glory,
praising them for their splendor.”

As used in this sentence, what does "depicted” mean?

A. praised

B. showed

C. prayed to

D. warned about

7. Choose the answer that best completes the sentence.
Athena challenged Arachne to a spinning and weaving contest she was

enraged that Arachne dared to compare herself to a goddess.

A. however
B. although
C. because

D. therefore

8. What did Athena do to Arachne at the end of the story?

ReadWorks.org - © 2020 ReadWorks®, Inc. All rights reserved.
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9. The text says that the myth of Arachne "served to warn against the dangers of pride
and vanity[.]" How does the story of Arachne demonstrate the dangers of pride and
vanity? Use details from the story to support your answer.

10. Based on the myth of Arachne, how were the ancient Greeks supposed to live their
lives? Use evidence from the text to support your answer.

ReadWorks.org « © 2020 ReadWorks®, Inc. All rights reserved,
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The SS Normandie

by W.M. Akers

lllustrations by Nishan Patel

If your family wanted to travel from America to Europe, you might go to the airport and get on
a plane. But generations ago, airplanes were less common, and there was only one way to
cross the Atlantic Ocean: on the sea.

ReadWorks.org - © 2014 ReadWorks®, Inc. All rights reserved.
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You've probably heard of the RMS Titanic, which claimed the lives of more than 1,500 people
when it sank in April 1912, But the age of the ocean liners did not end with the Titanic. in fact,
the great ships only got bigger and faster.

When the SS Normandie, a French ocean liner, pulled into New York Harbor on June 3, 1935,
she was the largest ship ever built.

ReadWorks.org - @ 2014 ReadWorks®, In¢, All rights reserved.
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More than twice the size of the Titanic, she could accommodate more than 1,500 passengers
and 1,300 crew members. She was also the fastest ship in the world. On her maiden voyage,
she crossed the Atlantic in just over four days-an incredible speed in a day when air travel
was not yet widespread.

But the Normandie was most famous for the luxury of her accommodations. Passengers
could swim in the ship's massive swimming pool, admire the exotic birds in the winter garden,
and watch plays and movies in the ship's theater. Three-quarters of the ship were dedicated
to first-class passengers, who were some of the wealthiest people in the world. At night, they
put on formalwear and ate in the 305-foot-long dining room. Each night was a luxurious party.

ReadWorks.org - © 2014 ReadWorks®, Inc. All rights reserved,
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World War [l started in 1939, and France was soon conquered by Germany. The Normandie
was in port in the United States when this happened, and the American government took
control of the ship. They did not want such a fast vessel to fall into German hands. They
planned to convert the Normandie into a troop transport to carry American soldiers overseas,
but on February 9, 1942, disaster struck.

Sparks created by one of the workmen landed on a pile of life preservers, which caught fire.
The ship's sprinkler system had been turned off, and the fire quickly spread through the ship.
Firemen from all over New York came to Pier 88 to try to save the great liner.

ReadWorks.org - © 2014 ReadWorks®, Inc. All rights reserved.
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For hours they fought the flames, pouring thousands of gallons of water onto the boat, but the
fire could not be stopped. The water caused the ship to tilt, and finally it fell over completely.
For months the ship lay on its side, frozen in icy mud. Finally the Navy had to tear it apart,
piece by piece. Fewer than 10 years after first sailing into New York, the great liner was no
more.

ReadWorks.org - @ 2014 ReadWorks®, Inc. All rights reserved.
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Name: Date:
1. What was the SS Normandie?

A. an airplane

B. an ocean liner
C. a troop transport
D. a battleship

2. The text describes the sequence of events that led to the destruction of the SS
Normandie. What happened after firemen spent hours to fight the fire on the SS
Normandie?

A. The ship tilted and fell over completely.

B. World War [l started.

C. Sparks landed on a pile of life preservers on the ship which caught fire.
D. The American government took over the ship completely.

3. The SS Normandie was a very fast ship in its time. What evidence from the passage
best supports this conclusion?
A. "When the SSNormandie, a French ocean liner, pulled into New York Harbor on June
3, 1935, she was the largest ship ever built."

B. "More than twice the size of the Titanic, she could accommodate more than 1,500
passengers and 1,300 crew members."

C. "Three-quarters of the ship were dedicated to first-class passengers, who were some
of the wealthiest people in the world."

D. "On her maiden voyage, she crossed the Atlantic in just over four days-an incredible
speed in a day when air travel was not yet widespread."
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ReadWorks’ The SS Normandie - Comprehension Questions

4. The SS Normandie was the fastest ship of its time. Based on the text, why might the

American government not have wanted the Germans to get control of the ship after
World War |l started?

A. They thought the Germans might use the ship to transport Germany's richest people.
They did not want this to happen.

B. They thought the Germans might use it to learn about French culture. They did not
want this to happen.

C. They thought the Germans might have a better chance at winning the war if they had
control of the ship. They did not want this to happen.

D. They thought the Germans might transport American soldiers overseas. They did not
want this o happen.

5. What is the main idea of this text?

A. The luxurious SSNormandie, the fastest and largest ship of its time, was destroyed
by a fire.

B. The American government took control of the SSNormandie after World War |l
began.

C. The SSNormandie was most famous for the luxury of its accommodations.

D. A couple of generations ago, travel by sea was far more common than airplanes.

6. Read the following sentences: "But the Normandie was most famous for the luxury
of its accommodations. Passengers could swim in the ship’s massive swimming pool,

admire the exotic birds in the winter garden, and watch plays and movies in the ship's
theater."

As used in this sentence, what does the word "luxury" mean?

A. something very pleasant and very necessary
B. something very cheap but important
C. something very necessary but not pleasant

D. something very pleasant but not necessary

ReadWorks.org - ©® 2020 ReadWorks®, Inc. All rights reserved.



Read“IOl"kSQb The 38 Normandie - Comprehension Questions
7. Choose the answer that best completes the sentence below.

The American government did not want the Normandie to fall into German hands,
they took control of the French ship while it was at port in the United States.
A. but
B. so
C. after

D. namely

8. What major world event caused the American government to take control of the
Normandie?

9. List two accommodations of the SS Normandie.
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ReadWorks’ The S8 Normandie - Comprehension Questions

10. Explain why the SS Normandie was such a great ship. Use evidence from the text
to support your answer.
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ReadWorks’ Endangered Animals at a Glance

Endangered Animals at a Glance
Back to the Wild

Not all the news is bad about endangered animals. In the United States, dozens of
endangered animals have been making a comeback. Here are few of them:

Gray Wolf: By the 1970s, the gray wolf had all but vanished from Yellowstone National Park.
In 1995 and 1996, federal biologists brought 66 wolves from Canada and set them free in the
wilderness areas of the park and central Idaho. Today, about 285 gray wolves live in central
ldaho, and 271 more roam Yellowstone.

Bald Eagle: Before Europeans came to North America, the sky was teeming with bald
eagles. As settlers moved west, they destroyed the eagles' natural habitat. Egg collectors and
pesticides almost wiped out the bald eagle population.

However, about 30 years ago the federal government passed laws to protect the eagles.
Today, more than 7,678 pairs of bald eagles live in the lower United States.

U.S. Fish and Wildlife Service

Grizzly Bear

Grizzly Bear: In the 1800s, an estimated 50,000 grizzly bears roamed the West. Today, the
bears are making a comeback in several Western areas, including Yellowstone Park.
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ReadWorks’ . Endangered Animals at a Glance
Can Zoos Help Save Endangered Animals?

Emi is a crowd-pleasing Sumatran rhinoceros at the Cincinnati Zoo. Why is she so popular?
In 2004, Emi gave birth to Suci, a healthy, wide-eyed female calf.

Although most visitors to the zoo enjoy gazing at Emi and Suci, scientists are happy for
another reason. Suci's arrival brings scientists a step closer to pulling the Sumatran
rhinoceros back from the edge of extinction.

As the populations of wild animais dwindle,
conservationists are hoping that they can breed animals
in zoos and later release them into the wild.

Scientists have reintroduced at least 19 species to the
wild from captivity. For example, by 1985 only nine wild
California condors were living in that state. Biologists
captured all nine and began a captive breeding program.

sxc.hu | As of July 2005, the number of condors increased to 280,
Sumatran rhinoceros with more than 120 living in the wild.
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ReadWorks’

Endangered Animals at a Glance - Comprehension Questions

Name: Date:

1. The passage explains why some endangered animals, including gray wolves and
bald eagles may

A. be getting killed at increasing rates

B. be making a comeback

C. be hard to find

D. be living in zoos

2. The big problem described in the passage is that many animals at one time were in

danger of extinction. The passage also describes the efforts that contributed to solving
this problem which include

A. arresting hunters and importing animals from other countries
B. federal laws and breeding animals in captivity

C. breeding animals in captivity and allowing animals to roam freely

D. importing animals from other countries and feeding them special food

3. Which of the following conclusions are supported by the passage?
A. Scientists do not want to breed animals in zoos.
B. Endangered animals may no longer survive,
C. Zoos should not help endangered animals.

D. People have been able to find ways to save endangered animals.

4. Read the following sentence:

"As the populations of wild animals dwindle, conservationists are hoping that they can
breed animals in zoos and later release them into the wild.”

In this sentence the word dwindle means

A. sickly
B. missing
C. decline

D. raise
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ReadWorks’ Endangered Animals at a Glance - Comprehension Questions

5. Which statement best describes the main idea of this passage?

A. People are harming endangered animals.
B. Endangered animals need our help.

C. Scientists are trying to find a way to help animals to find safe places to live.
D. Some endangered animals are increasing in number.

6. When the gray wolf had nearly vanished, what did people do to help prevent it from
becoming extinct?

7. Why might conservationists want to breed animals in captivity?

8. The question below includes an incomplete sentence. Choose the word that best
completes the sentence.

At one time only nine wild California condors were living in that state. May
2012, that number has increased to 405 with about 226 living in the wild.

A. Next
B. Now

C. Since
D. When
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ReadWorks’ Endangered Animals at a Glance

Endangered Animals at a Glance
Back to the Wild

Not all the news is bad about endangered animals. In the United States, dozens of
endangered animals have been making a comeback. Here are few of them:

Gray Wolf: By the 1970s, the gray wolf had all but vanished from Yellowstone National Park.
In 1995 and 1996, federal biologists brought 66 wolves from Canada and set them free in the
wilderness areas of the park and central Idaho. Today, about 285 gray wolves live in central
Idaho, and 271 more roam Yellowstone.

Bald Eagle: Before Europeans came to North America, the sky was teeming with bald
eagles. As settlers moved west, they destroyed the eagles' natural habitat. Egg collectors and
pesticides almost wiped out the bald eagle population.

However, about 30 years ago the federal government passed laws to protect the eagles.
Today, more than 7,678 pairs of bald eagles live in the lower United States.

U.S. Fish and Wildlife Service

Grizzly Bear

Grizzly Bear: In the 1800s, an estimated 50,000 grizzly bears roamed the West. Today, the
bears are making a comeback in several Western areas, including Yellowstone Park.
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Readerks° Endangered Animals at a Glance
Can Zoos Help Save Endangered Animals?

Emi is a crowd-pleasing Sumatran rhinoceros at the Cincinnati Zoo. Why is she so popular?
In 2004, Emi gave birth to Suci, a healthy, wide-eyed female calf.

Although most visitors to the zoo enjoy gazing at Emi and Suci, scientists are happy for
another reason. Suci's arrival brings scientists a step closer to pulling the Sumatran
rhinoceros back from the edge of extinction.

As the populations of wild animals dwindle,
conservationists are hoping that they can breed animals
in zoos and later release them into the wild.

Scientists have reintroduced at least 19 species to the
wild from captivity. For example, by 1985 only nine wild
California condors were living in that state. Biologists
captured all nine and began a captive breeding program.

sxc.hu As of July 2005, the number of condors increased to 280,
Sumatran rhinoceros with more than 120 living in the wild.
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ReadWorks® Endangered Animals at a Glance - Comprehension Questions

Name: Date:

1. The passage explains why some endangered animals, including gray wolves and
bald eagles may

A. be getting killed at increasing rates

B. be making a comeback

C. be hard to find

D. be living in zoos

2. The big problem described in the passage is that many animals at one time were in
danger of extinction. The passage also describes the efforts that contributed to solving
this problem which include

A. arresting hunters and importing animals from other countries
B. federal laws and breeding animals in captivity
C. breeding animals in captivity and allowing animals to roam freely

D. importing animals from other countries and feeding them special food

3. Which of the following conclusions are supported by the passage?

A. Scientists do not want to breed animals in zoos.
B. Endangered animals may no longer survive.
C. Zoos should not help endangered animals.

D. People have been able to find ways to save endangered animals.
4. Read the following sentence:

"As the populations of wild animals dwindle, conservationists are hoping that they can
breed animals in zoos and later release them into the wild."

In this sentence the word dwindle means

A. sickly
B. missing
C. decline

D. raise
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ReadWorks’ Endangered Animals at a Glance - Comprehension Questions

5. Which statement best describes the main idea of this passage?
A. People are harming endangered animals.
B. Endangered animals need our help.

C. Scientists are trying to find a way to help animals to find safe places to live..
D. Some endangered animals are increasing in number.

6. When the gray wolf had nearly vanished, what did people do to help prevent it from
becoming extinct?

7. Why might conservationists want to breed animals in captivity?

8. The question below includes an incomplete sentence. Choose the word that best
completes the sentence.

At one time only nine wild California condors were living in that state. May
2012, that number has increased to 405 with about 226 living in the wild.

A. Next
B. Now

C. Since
D. When
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Grade 6 Mathematics Continuous Instruction Packet

This packet contains review and practice in three categories.

e Skill review — Basic skills needed for application in Grade 6 content

¢ Common Core Review — Grade level review in the major domains of Ratio &
Proportional Reasoning and Expressions & Equations

e NYS Test Prep

It is recommended that you attempt one activity from each of these categories.
For example, one “Skill” activity (Skill #17), one common core review (i.e. 6.RP.1)
and a page or two from 2018/2017 Released Questions.

Answers were included where available.



Name

Date

Class

6.RP.1

SELECTED RESPONSE

Select the correct answer.

1. A snow blower requires a fue! mixture
ratio of 40:1 (gas to oil). Which
expression represents this ratio?

40
), -
B 1x40
© 40x1

1
() i

2. Arectangular yard is 10 feet long by

7 feet wide. What is the ratio of the width
of the yard to the perimeter of the yard?

@ 7to17
@ 71034
@ 17 to 34

(D> 34t07

3. Steve earns $8 per hour. His older
brother earns $2 more per hour than
Steve. What is the ratio of the money

Steve earns in an hour to the money his

brother earns in an hour?
@ $8to $2

@ $2to $8

@© $10to $8

@ $81to $10

4. A man mixed 2 teaspoons of sugar into
his large coffee but then added one more

teaspoon of sugar because it was not
sweet enough. What is the ratio of

teaspoons of sugar to one large coffee?

@& 3:1
® 2:1
@ 1:3
® 1:2

Select all correct answers.
5. A punch bowl contained 2 liters of ginger

ale, 1 liter of orange juice, and 1 liter of
raspberry juice. Select all the true
statements.

@A) The ratio of the ginger ale to the
entire punch bowl is 1 to 4.

(B> The ratio of orange juice to ginger ale
is2to 1.

(© The ratio of the juices to the ginger
aleis 2to 2,

(B> The ratio of the entire punch bowl to
the juices is 2 fo 4.

(E> The ratio of the orange juice to the
raspberry juice is 1 to 1.

. A restaurant worker was told to make

every ham sandwich with 2 tomato slices
and 3 pickle slices. Select all true
statements.

@& A worker makes three ham
sandwiches. Taken together, the
sandwiches will have a ratio of total
number of tomato slices to total
number of pickle slices of 6:9.

(B For every ham sandwich, the ratio of
tomato slices to pickle slices is 3:2.

(© A worker makes five sandwiches.
The ratio of total number of tomato
slices to total number of pickle slices
is 7:8.

(@ On every ham sandwich, the ratio of
tomato slices to pickle slices is 2:3.

(B> Once a ham sandwich is made, there
will be a ratio of 2 tomato slices to 1
ham sandwich.

CONSTRUCTED RESPONSE

7. In Ken's meatball recipe, for every 5 cups

of bread crumbs, 9 pounds of ground
beef are used. Write this ratio using a
fraction. Label the numbers in the
fraction.

Qriginal centent Copyright @ by Houghton Mifflin Harcourt, Additions and changes to the original content are the responsibility of the instructor,
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Name

Date Class

8. For every pizza Eric’s family ate, Eric ate
2 of the 8 pieces. If Eric’s family bought
2 pizzas, write the ratio of the total
number of pieces Eric ate to the total
number of pieces the family ate,

9. A middle school has the fifth and sixth
grades. There are 100 fifth grade boys
and 110 fifth grade giris. There are
7 fewer sixth grade boys than fifth grade
boys, and there are 10 more sixth grade
girls than sixth grade boys What is the
ratio of girls to boys in the middle school?
Show your work.

10. A particular school has a teacher to
student ratio of 1 teacher to 11 students,

a. Express the teacher to student ratio
using the symbol “.".

b. Express the teacher to student ratio
as a fraction.

c. Are there more teachers or students?
Explain how you know.

11. On a package of rice, the directions say
that the ratio of cups of water to cups of

uncooked rice should he 1:%.

a. What is the total number of cups of
ingredients needed if you want to

cook % cup of uncooked rice?

b. Susan says that the ratio of cups of
water to total cups of ingredients is
1:2 because there is twice as much
water as there is rice. Is this the
correct ratio? Explain why or why not,
and if not, give the correct ratio.

12. At the end of the season, Erica’s
basketball team has a win-to-loss ratio
of 3:2.

a. What is the ratio of wins to games
played?

b. Can you use the ratio you found in
part a to conclude that the total
number of games Erica’s team
played in one season is 57 Explain
why or why not.

Original content Copyright @ by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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Name

Date

Class

6.RP.2

SELECTED RESPONSE

Select the correct answer.

Select all correct answers.

1. A 5-pound bag of cat food costs $11.25.
What is the unit price of the cat food in
dollars per pound?

(A $0.44 per pound
B $2.25 per pound
(€ $6.25 per pound
®> $56.25 per pound

2. Three pounds of fish costs $14.97 at the
market. What is the unit price of the fish
in dollars per pound?

@ $4.99

® $11.97
@ $14.97
O $44.91

3. Bill drove 315 miles in 7 hours, Alisha
drove 235 miles in 5 hours, and Joanne
drove 414 miles in 9 hours. Which person
drove at an average speed of 47 miles
per hour?

@A) Alisha
(B Joanne

© Bill
(®> Both Joanne and Bill

Match each quantity with the correct unit rate,
6. A 30-ounce bottle of fruit juice costs $4.80.

10. A 32-ounce bottle of shampoo costs $5.76 per ounce.

7. 16 ounces of ground turkey costs $2.40,
8. A 32-ounce bottle of laundry detergent costs $6.72.
8. A 20-ounce bag of potato chips costs $3.80.

4. For each store, calculate the unit price
per ounce of potato chips. Which stores
sell potato chips at a unit rate of
$0.17 per ounce?

Potato Chip Prices
Store Cost Ounces

A $1.69 8
B $2.99 16
C $3.74 20
D $4.08 24
E $5.44 32

(A Stofe A

(B) Store B

© Store C

(D@ Store D

(ED Store E

5. Which of the rates shown here
correspond to a unit rate of $6 per
sandwich?

@ Spending $42 to buy 7 sandwiches
(B Spending $108 to buy 18 sandwiches
(© Spending $40 to buy 5 sandwiches
(®> Spending $100 to buy 16 sandwiches
(B> Spending $42 to buy 6 sandwiches

A $0.15 per ounce
B $0.16 per ounce
C $0.17 per ounce
D $0.18 per ounce
E $0.19 per ounce
F $0.20 per ounce
G $0.21 per ounce
H $0.22 per ounce

Original content Copyright @ by Houghton Mifflin Harcourt, Additions and changes to the ariginal content are the responsibility of the instructor.
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Name Date Class

CONSTRUCTED RESPONSE

11. A group of 180 students is divided into
20 teams for a competition.

a. Write a unit rate that represents the
number of students on one team.

b. Part way through the competition, the
students are gathered together and
divided into 15 teams. If there are still
180 students in the competition, how
many students are on each team
now?

12. A deli sells ham for $2.98 per half pound.
Kyle incorrectly says that the unit rate is
$1.49 per pound. His calculations are
shown below. Explain Kyle's mistake and
determine the correct price per pound.
Show your work.

$2.98+2 _ $1.49
1 pound

pound + 2

N[ =

13. A grocery store sells Swiss cheese for
$5.90 a pound. To the nearest cent, what
is the cost per ounce of Swiss cheese?
Round your answer to the nearest cent
and show your work.

14. Three wholesalers are having special
deals on chicken this week. Wholesaler A
is selling 10 pounds of chicken for
$40.00, wholesaler B is selling 15 pounds
of chicken for $45.00, and wholesaler C
is selling 20 pounds of chicken for $50.
Which wholesaler has the best price on
chicken? Show your work.

15. John and Maria are spending the
afternoon hiking in the desert. They
purchased six bottles of water for $9.00,
two protein bars for lunch for $5.00, and
some peanuts for $3.00 as a snack.
Suppose they start hiking at 11:30 A.M.
and finish the hike at 3:45 P.M. What is
the unit rate of money spent to hours
hiked? Show your work.

Original content Copyright ® by Houghton Mifflin Harcourt, Additions and changes to the eriginal cantent are the responsibility of the instructor.
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Name

Date

Class

6.RP.3a

SELECTED RESPONSE

Select the correct answer.

1. Steel alloys are formed by mixing certain
ratios of iron, carbon, and possible other
elements. The table shows the amount of
carbon required to make certain amounts
of a particular alloy. Find the missing
value for the table,

Steel (kg) |Carbon (g)
50 250
60 300
70
80 400
@ 350¢
® 280 g
@© 420¢g
® 175 g

2. A certain paint color is obtained by mixing
the correct ratio of red and blue paints.
Every time a batch is made, the mixer
records the amounts of each color used.
One of the batches in the table below
was made incorrectly. Which batch
should be rejected?

Batch | Red (gal) | Blue (gal)
1 4 6
2 2 3
3 12 24
4 8 12

(A) Batch 1

(B Batch 2

(@) Batch 3

(D) Batch 4

3. A cyclist was traveling at a constant

speed for 8 hours. The table below shows
the distances traveled after various times.
At the end of the trip, the cyclist's
odometer read 96 miles. Which answer
could be the missing row of the table?

Time (hr) | Distance (mi)

1 12
2 24
3 36
4 48
5 60
7 84
8 96

@ (6, 70)

® (6, 74)

© (6.5, 78)

D (6.5, 80)

. A student was interested in purchasing

notebooks in bulk to get ready for school.
Three stores were offering packages of
the kind of notebook the student wanted.
The table below shows the offers from
each store. Order the stores from the
best deal to the worst deal for the
notebooks.

Store | Cost | Notebooks
A $16.00 10
B $18.00 12
C $27.00 15

(A) Store B, Store A, Store C
(B Store A, Store B, Store C
(C) Store B, Store C, Store A
(B) Store C, Store A, Store B

-

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.

Grade 6

5

Commeon Core Assessment Readiness



Name

Date

Class

Select all correct answers.

5. A music store charges for lessons
according to the table below. If the store
charges a constant rate of dollars to time,
which of the following could fill the empty

row?
Time (min) Cost
30 $24
40 $32
45 $36
a. 50 minutes for $40 OYes ONo
b. 60 minutes for $42 OYes ONo
¢. 70 minutes for $56 OYes ONo
d. 90 minutes for $72 CYes CNo

CONSTRUCTED RESPONSE

6. An airport mixes an additive into its jet
fuel. The ratio of fuel to additive needs to
be kept the same. Complete the table
below for the amount of additive required
for different amounts of fuel.

Fuel (kg) | 63 84
Add. (9)

98
42

30 48

An engineer is investigating three
engines for fuel efficiency. The table
below shows the results of the tests for
the three engines. Which option gives the
best fuel efficiency? Why?

Option | Fuel (gal) | Range {mi)
A 24 528
B 30 690
C 42 840

8. A plane was traveling at a constant speed
and went 3200 miles in 8 hours. Make a
table of four pairs of distance and time.
Then use your table to create a graph of
distance versus time.

Distance {mi)

Time (hr)
I\d

........

N

1

9. A car is being tested for reliability on a
track by driving at a constant speed. The
car has traveled 150 miles in 3 hours.

a. Complete the table below.

Distance (mi) 150

Time (hr) 112 3 (4|5

b. If the car breaks down 4.5 hours into
the test and has to stop for a repair
before continuing, what ratio(s) of
distance to time would be affected?

¢. How would you expect the ratio to
change? Explain your reasoning.

Qriginal content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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Name

Date Class

6.RP.3b

SELECTED RESPONSE

Select the correct answer.

1. If 4 gallons of milk cost $16.76, how
much would 7 gallons of milk cost?

@A $4.19
® $29.33
© $67.04
@ $117.32

2. John drives to the beach, which is 270
miles away. In 2 hours, he drives 120
miles. If he continues at that speed, how
long will it take him to get to the beach?

& 2 hours
@ 2.5 hours

(C> 4 hours
(®> 4.5 hours

3. The yard care staff can mow 45 lawns in
a 10-hour work day. Each of the 9
workers can mow the same number of
lawns per hour. How many lawns can one
worker mow per hour?

@& 0.5 lawn per hour
@> 0.9 lawn per hour
(€ 4.5 lawns per hour
(&> 5 lawns per hour

4. A car travels 304 miles on 16 gallons of
gas. How far can the car go on 5 gallons?

@ 3.2 miles
@B 60.8 miles
€ 80 miles
(B> 95 miles

5. The last time Robert filled up his car with
gas, he paid $24.50 for 7 gallons. This
time, he needs 15 gallons. If the price is
the same, how much will he pay?

@ $52.50
(B $32.50
© $11.43
@ $3.50

CONSTRUCTED RESPONSE

6. A moving company has one large fruck
for furniture and one small truck for
boxes. During one move, it took the large
truck 4 hours to travel 180 miles. It took
the small truck 3 hours to make the
same trip.

a. Assume both trucks traveied at
constant speeds. How fast did each
truck travel?

b. The following week, the company
was hired for a 225-mile move. If
each truck fraveled at the same
speed it had the previous week, how
long did the trip take for each truck?

7. Two shoppers bought meat at a
supermarket deli. The first bought 3
pounds of meat for $9.87. The second
bought 4 pounds of meat for $16.76.
Neither of the shoppers had a coupon or
a discount card. Can you teli if both
shoppers bought the same kind of meat?
Explain why or why not.

Qriginal content Copyright © by Houghton Mifflin Harcourt. Additions and changes 1o the original content are the responsibility of the instructor.
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Name

Date Class
8. Lupita bought 7 pounds of pretzels at a 9. Sam is renting one of two cars to go on a
local wholesaler for $16.80. Her friend 300-mile trip. The first car can travel
Charles bought 5 pounds of pretzels at 75 miles on 5 gallons of gas. The second
the supermarket for $12.75. Charles car can travel 240 miles on 20 gallons of
thinks he got the better deal because gas. Each car costs the same to rent, and
$12.75 is less than $16.80. Sam wants to rent the car with the better
a. Is Charles’s reasoning correct? gas mileage. Sam estimates that he will
Explain why or why not. pay $49.42 for every 14 gallons of gas he
has to buy. Which car should Sam rent,
and how much money should Sam bring
for gas? Explain your reasoning.
10. A band Martha likes just released a new

b. How much would Charles have spent

if he had purchased the same
amount of pretzels as Lupita?

album. A digital music service is selling
the 12-song album for $9.96. The service
also allows purchase of individual songs
off the album, with 3 songs selling for
$1.29 and 9 selling for $0.99. Martha
likes all of the $1.29 songs and 6 of the
$0.99 songs. She is considering buying
just those songs or buying the whole
album. What is the beiter deal in terms of
price per song? Show your work.

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibifity of the instruetor.
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Name Date Class

6.RP.3¢c
SELECTED RESPONSE 3. A 15% tip on a diner bill is $2,55. How
Select the correct answer. much is the bill?
1. What is 5% of 200? @ $0.17
1 ® $0.38
® 40 © $17.00
@& 10 (D $38.25
© 40 4. 56.25% of what number is 168.75?
@ 1,000 @ 3
2. What is 120% of 507 @ 94.9219
@ 2.4 ®© 300
® 6 @ 9,492.19
© 60 Select all correct answers.
® 6,000 5. Choose all statements that are true.
A 15% of 151s 1.
@ 5% of 50 is 10.
(© 10% of 100 is 10.
D) 2% of 100 is 5.
® 3% of 200 is 6.

Match each library with its total number of books.

8. 30 books represent 2% of the total books at library 1. A 750 books
7. 45 books represent 5% of the total hooks at library 2. B 900 books
C 1,500 books
8. 60 books represent 1% of the total books at library 3, D 2,000 books
9. 75 books represent 10% of the total books at library 4. | E 3,000 books

10. 90 books represent 3% of the total books at library 5. F 6,000 books

CONSTRUCTED RESPONSE

11. The state sales tax rate for North Carolina is 4.75%. The state sales tax rate for South
Carolina is 6%. Shandra would like to buy a cookbook with a list price of $20.

a. If Shandra buys this book in North Carolina, how much would she pay for sales tax?

b. If she buys the same book on a trip to South Carolina, how much more sales tax would
she pay compared to North Carolina?

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the ariginal content are the responsibility of the instructor.
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12.

Date

Class

a. 1.5% of what number is 60?7 15% of
what number is 607 150% of what
number is 607

b. What pattern do you notice in part a?

c. 2.5% of 2,000 is 50. Explain how to
use the pattern you described in part
b to find 25% of what number is 50.

13. Jane will receive 18% less of her regular
pay when she retires. Her regular pay is
$500 per week.

a. How much would she receive per
week if she retires today?

b. Explain how you can calculate this
using 100% — 18% = 82%.

c. Show why these calculations are
equivalent in general. (Hint: Write an
expression for finding an amount A
minus n% of A. Write another
expression for finding (100 — n)% of
A, and then use algebra to show that
these two expressions are the same.)

Original content Copyright © by Houghten Mifflin Harcourt. Additions and changes to the original content are the responsibility of the Instructor.
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Name Date Class

6.RP.3d

Select all correct answers.

5. Choose all measurements that are
equivalent to 45 meters.

@& 450 centimeters

SELECTED RESPONSE

Select the correct answer.

1. Heather's desk is 3 feet iong. About how
long is it in meters?

Use 1 foot = 0.305 meter. (B 4,500 centimeters
(A) 0.00915 meter (© 0.045 kilometer
(B 0.9015 meter @ 0.45 kilometer
@ 0.915 meters (E> 4,500 millimeters
@ 9.15 meters Select the correct answer for each
2. A large container at a party holds 9 liters | lettered part.
of lemonade. About how many galions of 6. John knows he can safely lift 30 pounds
lemonade does the container hold? Use without help. He needs to move the
1 gallon = 3.79 liters. following packages. Can he lift each
@ 0.4 gallon safely without help? Use the following:
® 2.4 gallons 1 pound = 0.454 kilogram
49 1 ounce =~ 28.4 grams
© 12.8 gallons 1 kilogram = 1,000 grams
@ 34.1 gallons a. 9.08 kilograms OYes ONo
3. Joan mails a package that weighs b. 9,080 grams OYes ONo
140 grams. About how many ounces is ¢. 460 ounces OYes ONo
the package? Use 1 ounce =~ 28.4 grams. d. 46 kilograms OYes ONo
@& 0.2 ounce

CONSTRUCTED RESPONSE

(B 4.9 ounces

7. A chemist has a beaker with 4 fluid
© 168.4 ounces ounces of a solution. The chemist needs
(> 403.3 ounces 500 milliliters for an experiment. About
how many more milliliters does the
chemist need? Use 1 fiuid ounce =
29.6 milliliters and show your work.

4. A printing company makes plastic
banners 15 feet long by 6 feet wide. An
overseas customer wants to know about
how many square meters the banner is.
Use 1 foot = 0.305 meter.

(A) 8.37 square meters
@ 27.5 square meters
(©> 90.0 square meters
> 900 square meters

Qvriginal content Copyright ® by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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Name

Date Class

8. How many square centimeters of paper
do you need to wrap the box shown
below? Use 1 inch = 2,54 centimeters.
Round your final answer to the nearest
whole square centimeter. Show
your work.

12in.

L -

’ 6in.
Gin.

9. Jorge wants to buy new vinyl flooring for
his kitchen. The kitchen floor is 12 feet by
15 feet. How many square yards is the
floor? Show your work.

10. Tisha orders a carpet for a room that
measures 270 square feet. The salesman
says the carpet costs $12.00 per square
yard. He explains that since there are
3 square feet for every square yard,
Tisha needs 90 square yards of
carpeting, which costs $1,080. What error
did the salesman make? What should be
the actual cost of the carpet?

11. A recipe includes the following juices.
The measurements are given in milliliters.

a. Find the amount of each in cups to
complete the table. Use
1 fluid ounce = 29.6 milliliters and
1 cup = 8 fluid ounces. Round to the
nearest cup as necessary.

Juice Milliliters | Cups
Cranberry 3,500
Orange 950
Lemon 240

b. One quart of cranberry juice equals
4 cups. How many quarts of
cranberry juice are needed for the
recipe? If you can only buy whole
quarts of juice, will there be cranberry
juice left over? Explain.

Original content Copyright @ by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructar.
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Name

Date

Class

6.EE.1

SELECTED RESPONSE

Select the correct answer.

1. Which exponential expression equals
ExBx5x5x5x%x57

® 5°
® 5°
© 6°
@ 5’
2. Which is the expanded form of 7°?
@ 7TXTXTXTXTXT
B 5x5%x5x5x5%x5x%5
©TxTxTxT
D 7x7TxTxTxT

3. Which is the expanded form of 32 x 352
A 3x3x3x3x3x3x3
EIx9IxIxIxIxIxIXxIxIx9
(C©3x3x3x3x3x3x3x3%x3x3
D IxIxIXxIxIxIx9

4. Which is the value of 6°?

@& 216

@ 1,296
@© 4,096
@ 7,776

Select all correct answers.

5. Which of the following expressions is
equal to 647

@ 2¢
® &
© 6’
@ 2¢
® 4°

Match each exponential expression with its expanded form.

6. 2°x5*
7. 98 x 11°
8. 12°

9. 2*x5*
10. 9% x 11°

A2x2x2x2x5x5%x5x%x5
B12x12x12x12x12x12x12
COXIxIxOIx1Ix11x11x11x11
D565x5x5x5x5x3x3x%x3
E5x5x5x2x%x2

FOx9x9x11x11x11x11x11
G2x2x2x5x5%x5x%x5
Hi12x12x12x12%x12

CONSTRUCTED RESPONSE

11. Louis evaluated the expression 3° + 6%, but he made a mistake. His work is shown.
Identify Louis’s mistake and show how to find the correct answer.

3+ 68 =5x5%x5+3x3x3%x3x3x3
=854

GCriginal content Copyright @ by Heughton Mifftin Harcourt. Additions and changes fo the original content are the responsibility of the instructor.
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12. Evaluate 112 x 2% + 3% + 9%, Show
your work.

13. A square has a side length of
8 centimeters.

a. The area of a square is the square of
the side length. Write and evaluate
an exponential expression for the
area of the given square.

b. If the given square is one side of a
cube, the surface area of the cube
will be 6 times the area of the square.
Write and evaluate an exponential
expression for the surface area of
the cube.

c. If the given square is one side of a
cube, the volume of the cube will be
the cube of the side length of the
square. Write and evaluate an
exponential expression for the
volume of the cube.

14, Kerry puts pennies into a jar every day.
On the first day, she puts 2 pennies into
the jar. On the second day, she adds
double the number of pennies she put
into the jar on the first day. On the third
day, she adds double the number of
pennies she put into the jar on the
second day. This pattern follows for
a week.

a. Write exponential expressions for the
number of pennies put into the jar on
the second, third, and fourth days.

b. What pattern do you notice in the
expressions you wrote for part a?

c. Write an expression in exponential
form for the number of pennies she
puts into the jar on the seventh day.
Expand and evaluate the expression.

d. How much money will be in the jar at
the end of the week?

Original cantant Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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Date

Class

6.EE.2a

SELECTED RESPONSE

Select the correct answer.

1. Which expression below represents

“k more than 8"?
@A 8k

@B 8+k

© 8-k

8
®

2. Which statement below could be

represented by the expression 7 — {?

@) tless than 7

@ 7timest

(© tmore than 7
(B 7 less than ¢

3. Which statement below CANNOT be
represented by the expression ¢ — 167

(A 16 less than t

(B tdecreased by 16
(© tless than 16

(B> 16 subtracted from ¢

4.

5.

Select the correct answer for each lettered part.
7. Choose the operation that is indicated by each statement.

a. 5 more than n

. 11 fewer than w
k divided by 4

y less than 8
2times r
9increased by g

R

O+
O+
O+
C+
O+
O+

O—-
O-—
O—
C—
0 -
(o=

QO x
ax
O x
Ox
ax
Cx

Marcus and Judy are picking apples. At
the end of the day, Marcus has a apples.
Judy has 5 times as many apples as
Marcus. How many apples does Judy
have in terms of a?

@A a-5
@B 5+a

5
©
O 5a

Select all correct answers.

Which of the following statements could
be represented by the expression d ~ 10?

(&> 10 less than o
@ 10 more than d
(C d decreased by 10
(®> dless than 10

(E) d minus 10

(@ dincreased by 10

. Which of the following indicates that the

operation is addition?
(&) 8 plus j

(B k fewer than 10
(© rincreased by 7
(D) 14 divided by n
@ 11 decreased by A
@ 6 more than s

C+
C=
O+
Q=
Q=
O=

Original content Copyright @ by Haughton Miffiin Harcourt. Additions and changes to the original content are the responsibility of the instructor,
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CONSTRUCTED RESPONSE
8. Rebecca and Clark are playing baseball.

9.

10.

During the first hour, Rebecca has r hits

and Clark has 3 more hits than Rebecca.
During the second hour, Clark has ¢ hits

and Rebecca hits 5 fewer than twice the

number of Clark’s hits.

a. Write an expression for the number
of hits Clark made in the first hour.

b. Write an expression for the number
of hits Rebecca made in the
second hour.

The zco has lions, tigers, and bears.
There are t tigers in the zoo,

a. How many lions are in the zoo if
there are 3 more lions that tigers?

b. How many bears are in the zoo if the
number of bears is two times the
number of lions?

a. Write an expression represented by
the statement “3 more than n.”

b. Write an expression represented by
the statement “n increased by 3.”

¢. Write an expression represented by
the statement “n plus 3.”

d. What can you say about the
statements in parts a through ¢
in terms of the expressions
they represent?

11. A construction crew is installing lights in a
room. The room has an area of s square
feet. The number of lights required in the
room is s divided by 5.

a. How many lights are required in
the room?

b. The construction crew has 10 more
lights than the number of lights
required. Use your answer from
part a to write an expression for the
number of lights the construction
crew has.

¢. Some of the lights are broken, so it
turns out that the construction crew
has 15 fewer lights than the number
of lights required. Use your answer
from part a to write an expression for
the number of lights the construction
crew has.

d. After receiving a new shipment, the
construction crew has twice the
number of required lights. Use your
answer from part a to write an
expression for the number of lights
the construction crew has.

12. Trudy is ordering pies from Sal. Trudy
orders 3 more apple pies than ¢ cherry
pies. Sal gives Trudy ¢ cherry pies and
¢ — 3 apple pies. Explain Sal's mistake
and correct it.

Original content Copyright ® by Houghton Mifflin Harcourt. Additions and changes to the criginal content are the responsibility of the instructor.
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Name Date Class

6.EE.2b

SELECTED RESPONSE 3. Which expression is a quotient?
Select the correct answer. @ 9r
1. Which expression is the product of two ® b
factors? 12
@A 8(5+n) © 15+d
® 2+h O m-4
© X 4. Which is the coefficient in the expression
3 23y + 52
O t-9 @y
2. In the expression n + 23, what is 237 ® 5
A& A coefficient © 23y
@ A factor ® 23
© Aterm
Md> A sum

Select the correct answer for each lettered part.
5. Identify each expression as a sum, a difference, a product, or a quotient.

a. 4t C Sum O Difference
b. 6-u O Sum Q Difference
c. f+10 C Sum Q Difference
d. 27{v+ 3) O Sum O Difference
e. 42+k O Sum O Difference
; t O Sum C Difference
T 13
CONSTRUCTED RESPONSE

6. Write the expression represented by the statement “7 times the sum of 2 and x.” Identify the

factors in the expression.

O Product
O Product
C Product
C Product
C Product
C Product

C Quotient
C Quotient
C Quotient
C Quotient
Q Quotient
C Quotient

7. ldentify two sums in the expression 14 + b + 27d. Identify the terms of each.

Original content Copyright @ by Houghton Mifflin Harcourt, Additions and changes to the original content are the responsibility of the instructor,
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8. Identify each product in the expression 11. Use the expression 56xy+5—6x+i

14n + 2 + 6k and then identify the 20°

coefficients in each product. for the following questions.

a. ldentify two sums.

b. Identify the terms of the expression.

9. a. Identify the terms of the expression
7x° + 2y — 8. ldentify which terms in
the expression are products and find
the coefficients in those products.

c. ldentify a product of two factors. Find
the coefficient in the product.

b. List the order of operations used to
evaluate the expression. What is the
value of the expression at x =2 and
y=-17

d. Identify the quotient.

12. ldentify all sums, products, and factors in
the expression.

(X +58)(y + 9) + (2 + x)(y + 23)

10. Lara says the factors of the expression
(5+s)k+T7)areb, s, k,and 7. Is this
correct? If not, explain what Lara found
and write the correct factors.

Qriginal content Copyright © by Houghton Mifflin Harcourt, Additions and changes to the original content are the respensibility of the instructor.
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Name

Date Class

6.EE.2c

SELECTED RESPONSE

Select the correct answer.

1. Helen bought notebooks and pencils for
school. The number of pencils she
bought is given by 6(n — 3), where n is
the number of notebooks she bought.
How many pencils did Helen buy if she
bought 5 notebooks?

@& 2 pencils
@ 12 pencils
© 27 pencils

@ 48 pencils
2. In what order should the operations be
performed to evaluate 6x — 2 at x = 3?

(A First, muiltiply 6 by 3. Then, square
the resuit. Finally, subtract 2 from the
result.

(B First, find 3% Then, subtract 2 from
the result. Finally, multiply the result
by 6.

(© First, find 3% Then, multiply the result
by 6. Finally, subtract 2 from the
result.

(D> First, multiply 6 by 3. Then, subtract
2 from the result. Finally, square the
result.

3. What is the value of the expression
8

1
H_Enz atn=4?
® -6
B -2
© 2
® 24

4. The area of a triangle is given by the
formula A= %bh. What is the area of the

triangle if b=5 and h =47
@ 2 © 45
@ 2.5 @ 10

Select all correct answers.

5. Which expressions are equal to 41 when
evaluated at d =47

@A 9 +5
@ 7 + 3d*
© 10d -1

12

11d-—
) =

E o*-23

CONSTRUCTED RESPONSE

6. A rectangular box with dimensions ¢
by w by h has a surface area A given by
A=2¢w+22h+2wh, lts volume Vis
given by V = éwh. If the dimensions of
the box are given as 5 feet by 3 feet by
2.5 feet, what is the surface area and
volume of the box? Show your work.

7. Evaluate the expression %y +10+y? for

y=28,

Original content Copyright @ by Houghton Mifflin Harcourt. Additions and changes to the original content ara the responsibility of the instructor.
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8. Mandy has g quarters. The number of
nickels she has is 4 times the number of
quarters. She has 10 more dimes than
quarters.

a. Write expressions for the number of
nickels and dimes Mandy has.

b. How many nickels and dimes does
she have if she has $5 in quarters?

9. Evaluate the expression 11k +9—k2 —1?5

at k=15, Show your work.

10. Mark incorrectly evaluated the expression
4x+12 — x* at x = 2. His work is shown.
Identify and correct Mark’s mistake. Show

your work.

4(2)+12-22 = 4(2)+ 102
=4(2}+100
=8+100
=108

11. Rosa is putting cube-shaped tissue boxes
into a shipping crate. Each tissue box has
a side length of 4 inches.

a. The volume V of a cube is given by
V=35°, where s is the side length of
the cube. What is the volume of one
tissue box?

b. If 32 tissue boxes fit into the crate
without any gaps or space left over,
what is the volume of the crate?
Explain how you find your answer.

¢. Can you tell what the dimensions of
the crate are if you only know its
volume? Explain why and give the
dimensions, or explain why not.

12. Tyler is planting a garden. The garden
will contain mums that cost $7 each and
daisies that cost $10 for 3.

a. Write an expression for the cost of m
mums and d daisies.

b. How much will it cost for 7 mums and
6 daisies? Show your work,

c. How much will it cost for 3 mums and
9 daisies? Show your work.

Original content Copyright @ by Moughton Mifflin Harcourt, Additions and changes to the original content are the responsibility of the instructor.
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Name

Date

Class

6.EE.3

SELECTED RESPONSE

Select the correct answer.

1. Which expression is equivalent to
12x — 3x?

@ x(12 -~ 3)
@) 8x
© 3(3x—x)
@ 9

2. What property is used to say that the
expression 5x + 7 — 2x is equivalent to
the expression 5x —2x+ 77

(&> Commutative property of addition

(B> Commutative property
of multiplication

(© Associative property of addition
(B Distributive property

3. What expression is equivalent to the
expression (1 + 4x) + 2x7?

@ 7x

@ 5x + 2x
© 1+6x
@ x(4 +2)

4. The expression 11x° — 6y + 2x° is
simplified as follows. Which property is
NOT used to simplify the expression?
11 -8y +2x° =11x° + 2x° - 6y

= x}(11+2)-6y
= x3(13)-6y
=13x% -6y
(A Commutative property of addition

(B Commutative property of
multiplication

(© Associative property of multiplication
(B> Distributive property

Select all correct answers.

5. The expression (y + 14x) -~ 5x - X% is
simplified as follows. Which properties
of operations are used to simplify
the expression?

(y +14x)-5x—x2 = y + (14x-5x)— x?
=y +x(14-5)- x?
=y +x{9)— x*
=y +9x-x?

(&> Commutative property of addition

(B> Commutative property
of multiplication

(© Associative property of addition
(B> Associative property of multiplication
() Distributive property

CONSTRUCTED RESPONSE

6. a. Use the distributive property to write
23y - (Tx - 2y) + x without
parentheses.

b. Use the commutative property of
addition to collect like terms.

¢. Simplify the result from part b.

7. Simplify the expression (2x + 3y) + y
using the properties of operations. Show
your work.

Original cantent Copyright @ by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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8. Amy is buying fruit for a party she is 9. Arectangular prism has length a, width b,
having. She buys the fruit over a 3-day and height c.
period. The first day, she buys a apples a. Using the formula A= ¢w, find the
and n nectarines. The second day, she area of each face of the prism and
buys twice as many apples as she bought write an expression for the sum of
the first day. On the third day, she buys the areas. Collect like terms, and
10 bananas. then use the distributive property to
a. Write an expression for the total simplify the expression so that there
number of pieces of fruit Amy buys. are three terms inside the
Do not simplify. parentheses. Show your work.

b. Explain how to use the order of
operations to simplify the expression.
Show your work.

b. Use the result from part a to write an
expression for the total surface area
of a cube with side length a. Use the
properties of operations to simplify
the expression to one term, Show
your work.

10. Laura mistakenly found that the expression 4x — 6y is equivalent to the expression
12x — 18y — 4(2x + 3y). Her work is shown. Find and correct Laura's mistake. Use the
properties of operations to correctly simplify 12x — 18y — 4(2x + 3y) to two terms.
Show your work.

12x—-18y —4(2x+3y)=12x-18y - 8x+12y Distributive property
=12x-8x-18y +12y Commutative property of addition
=4x-6y Combine like terms.

Original content Copyright @ by Houghton Mifflin Harcourt, Additions and changes to tha original content are the responsibility of the Instructor.
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Name Date Class

6.EE.4
SELECTED RESPONSE 3. Which pair of expressions are
Select the correct answer. equivalent?
1. Which expression is NOT equivalent to (B 4x-2+5xand 7x
the expression 11 — (3x + 2)7 B (11 +3x) — xand 11 + 2x
@ 11-3x-2 @ 12(x—2) and 12x - 2
® 9-3x @ 9x(4) and 13x
®© 11-3x+2
@ 11+ (<3x-2) Select all correct answers.
4. Which expressions are equivalent to the
2. Which expression is equivalent to expression 2x — (—3x + 8y) + 87
- ?
12x = 3(x + 2)7 @) 2x+(3x+8y)+ 8
@ 12x+6 @ 2x+(3x-8y)+8
® 12x-6 @ (2x+3x) -8y +8
© 9x+6 ® 3x+8
©® 9x-6 (E 5x-8y+8
Match each expression with an equivalent expression.
5. 3x—2+8x A 12x
6. 4x-(2x+1) B 2x-1
7. 11{x-1)+2 C 7x
8. 4(3x) D 11x-9
9., —13x+ 5x E 11x-2
F 2x+1
G -8x

CONSTRUCTED RESPONSE

10. Blaine and Tanya are selling pumpkins and tomatoes at a farm stand. Blaine sells
P pumpkins and t tomatoes on the first day. The second day he sells double what he sells
the first day. Over both days, Tanya sells triple what Blaine sells on the first day.

a. Write an expression for the total number of pumpkins and tomatoes Blaine sold
both days.

b. Write an expression for the total number of pumpkins and tomatoes Tanya sold
both days.

¢. Did Blaine and Tanya sell the same amount? Explain.

Original content Copyright ® by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the Instructor.
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11. Peter is making cookies. He needs to add 13. Nick is finding the perimeter of a garden.

total of 21 £l q 22 The measurements of the garden are
alotalo 4 cups ot flour an 3 cups given below. Nick’s expression for the
of sugar per batch. At the beginning of perimeteris 2n+ 1+ 2n+4n +5.
the recipe, he only adds 1% cups of flour n+3
and 2 cup of sugar per batch. He adds n-+1

3 n+1

% cup of flour and 1% cups of sugar per 2(n+1)
batch later in the recipe. n

a. Write an expression for the number

of cups of flour Peter added to make

b batches of cookies. 2n

: ) a. Write an expression for the perimeter
b. Write an expression for the number of the garden.

of cups of sugar Peter added to
make b batches of cookies.

b. Simplify the expression from part a to
two terms. Show your work.

¢. Simplify the expressions from parts
a and b. Did Peter add enough flour
and sugar to his cookies?

c. Is Nick's expression for the perimeter
correct? Show your work.

12. Show that the expression
(8x —12)) + y + 2(3 + 3x) is equivalent to
the expression —11y + 6 + 14x.
Use the properties of operations to
justify your steps.

Original content Copyright ® by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the Instructor.
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Name

Date Class

6.EE.5

SELECTED RESPONSE

Select the correct answer.

1. For what value of x is the equation
4 =12x - 2 true?

1
.y §
1
® 3
© 2
® 6

2. Which vaiues from the set

{1, 2, 3, 4, 5, 6} are solutions of
9<2x+37

@ x={1,2}

® x=1{3, 4,5, 6}

© x=1{4, 5, 6}

@ x={1,2,3,4,5, 6}

3. What is a common solutionof x -8 <2
and 7 < 2x-137

@ 9
@ 10
@© 11

(B> The inequalities do not have a
common solution.

4. Rachel is typing a 1,500-word report. Her
progress is represented by the equation
1,500 = 500 + 50t, where t is the number
of minutes spent typing. If she does not
take a break, how many minutes does
Rachel need to type to finish her report?

(A 10 minutes
B 20 minutes
{© 30 minutes
@) 40 minutes

Select all correct answers.

5. Which statements below are true when
x=57

A>3=2x-7

@ 3<2x-9

C©2<x+6

@ 18 =6x— 12

E 3=2+x
CONSTRUCTED RESPONSE

6. Is 4 a solution of 7 < 5x — 167 Show
your work.

7. Do all of the values from the set {5, 6, 7}
make the inequality 9x — 3 < 60 true?
Explain.

8. What value(s) from the set {0, 1, 2} make
the equation 4x + 9 = 13 true? Show
your work.

Original content Copyright @ by Houghton Mifflin Harcourt. Additions and changes to the original content are the respensibility of the instructor.
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Name

Date Class

9. What values from the set of natural
numbers make the inequality 6 + 2x> 8
true? Explain.

10. Kyle is saving his money to buy a
computer for $300. He has already saved
$75, and plans to save an additional
$22.50 each day.

a. Write an equation for the number of
days Kyle will need to save in order
to buy the computer.

b. If Kyle saves for 10 days, will he
have enough money to buy the
computer? Explain.

11. a. Which values from the set {1, 2, 3, 4}
are solutions of 11 = 2x + 57 Show
your work,

b. Which values from the set {1, 2, 3, 4}
are solutions of 11 > 2x + 57 Show
your work.

¢. How are your answers from parts a
and b different?

12. Jasmine says that 2 and 3 are solutions
of the inequality 16 > 11x - 6. Is Jasmine
correct? Explain. Show your work.

Origlnal content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the Instructor.

Grade 6

48 Common Core Assessment Readiness



Name

Date

Class

6.EE.6

SELECTED RESPONSE

Select the correct answer,

1. There are red and blue marbles in a bowl.

There are twice as many blue marbles as
red marbles. What expression represents
the number of blue marbles?

@ 2b, where b is the number of blue
marbles

@ 2r, where ris the number of red
marbles

© r+ 2, where ris the number of
red marbles

(7)) g,where b is the number of

blue marbles

2. x is 4 less than a number y. What
expression represents the value of x?

@ x-4
®y-4
© x+4
G y+4

3. Kyle starts with $15.00 and saves $3.50
each day. What expression represents
the total amount Kyle saves?

@ $3.50
@ $15.00

(© 3.5t+ 15, where tis the number
of days

(D> 15t + 3.5, where tis the number
of days

4. The product of two different numbers is
132. If one of the numbers is x, what
expression represents the value of the
other number?

@ 2
X

B 132x
© 132 —x
D> x+132

Select all correct answers.
5. Joan has 3 fewer dogs than rabbits. If ris

the number of rabbits Joan has, which
expressions represent the total number of
animals Joan has?

Ar

@ r+(r-3)
©r-3

® 2r-3
& r+{r+3)

CONSTRUCTED RESPONSE

6. Paulo and Marie are collecting quarters.

The number of quarters Pauio has is

3 times the quantity of 5 fewer than the
number of quarters Marie has. Write an
expression for the number of quarters
Paulo in terms of the number of quarters
Marie has. Define any variables used.

. The value of x is 3 more than half the

value of y.

a. Write an expression for the value of x
in ferms of y.

b. What is the value of x if y =77 Show
your work.

Criginal content Copyright € by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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8. Daisies and tulips are planted in a 10. A group of students collect a number of
garden. There are 11 fewer tulips shells on the beach. They sort the shells
planted than daisies. into three piles based on the size of each

a. Write an expression that represents shell. The first pile has half as many
the number of tulips in terms of the shells as the number they collected.
number of daisies. Define any The second pile has 10 fewer shells than
variables used. the first pile. The third pile has the

remaining shells.

a. Write simplified expressions for the
number of shells in each pile in terms

of the total number of shells. Define
b. If 18 daisies are planted, how many any variables used.

tulips are planted?

9. Elena is selling tickets for an amusement
park. She sells triple the number of
student tickets as adult tickets and
she sells 8 fewer senior tickets than
adult tickets.

a. Write expressions for the number of
adult tickets, student tickets, and
senior tickets, using a as the number
of adult tickets.

b. If there are 22 shells in the first pile,
how many total shells did the
students collect? Explain two
ways you could find the total number
of shells,

b. Using your answers from part b, write
a simplified expression for the total
number of tickets Elena sells.

c. If Elena sells 15 adult tickets, does
she sell at least 100 total tickets?
Show your work,

Original content Copyright @ by Houghton Mifftin Harcourt. Additions and changes to the original content are the responsibility of the Instructor.
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Name

Date

Class

6.EE.7

SELECTED RESPONSE

Select the correct answer,

1. Which of these equations has the same
solution as the equation x + 5 =127

@ x+5=7

@ x+8=15
C x+7=12
@ x+12 =20

2. Thomas put % of the ¢ coins he had in

his pocket into the jar under his bed. He
put 16 coins into the jar. The equation

that models this situation is %c =18.

How many coins did Thomas have in
his pocket?

@A 4 coins

@ 12 coins
© 20 coins
@ 64 coins

3. What is the procedure for solving the

equation %x =167

@ Add 1 to both sides of the equation.

2

(B> Subtract % from both sides of the

equation.

(@ Multiply both sides of the equation
by 2,

(D> Multiply both sides of the equation

1

4. There are 6 blue shirts and g green

shirts in a drawer. There are 11 shirts
total in the drawer. What equation
models this situation?

@ 6+g=11
® 6g=11
©6-g=11

1
—g=11
@DBQ

CONSTRUCTED RESPONSE
5. What is the solution of the equation

3 + x = 97 Show your work.,

6. Sally measured the height of a flower

growing in her garden. The flower was

3% inches tall. Over the next week, the

flower grew h inches and measured

4% inches tall. Write an equation that

models the situation. Then solve the
equation and state how much the flower
grew during the week.

. The sum of 6 and another number is 23.

Write and solve an equation to find the
other number. Show your work.

Original content Copyright ® by Houghton Mifflin Harcourt, Additions and changes to the original content are the responsibility of the instructor.
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Date

Class

8. Chois driving a car, He gets to his
destination, which is 72 miles away,
in 1 hour and 30 minutes.

a. The equation d = rf can be used to
model Cho’s drive, where d is the
distance traveled, ris the speed of
the car, and f is the amount of time
spent traveling. Substitute Cho's time
and distance into the equation.

b. Solve the equation in part a to find
Cho’s speed. Show your work.

9. Kirk owns a bakery and is making
muffins. Each batch of muffins uses

3
foc use.

cup of milk. He has 1 gallon of milk

a. If Kirk uses % gallon of milk in total,

how many batches of muffins did he
make? Write and solve an equation
to find the answer. Show your work.
(Hint: There are 16 cups in 1 gallon.)

b. Kirk earned $108 from selling the
muffins. How much money did he
earn per batch? Write and solve an
equation to find how much money
Kirk earned per batch.

10. Lauren incorrectly solves the equation
%+ X= %3 Her work is shown below.
Explain Lauren’s mistake and find the

correct solution. Show your work.

4x=B

5 5
4.4, x-18,4
5 5 5 5

x=2

5

11. Adam is saving money to buy a
computer. He saves s dollars each week.
After 7 weeks, he has $315 saved.

a. Write an equation that models
the situation.

b. How much does Adam save each
week? Show your work.

c. The computer Adam wants to buy is
$450. How many more weeks does
he have to save to buy the
computer? Write an equation to
model this situation and solve. Show
your work.

Original content Copyright @ by Houghton Mifftin Harcourt. Additions and changes te the original content are the responsibility of the instructor.
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Date Class

6.EE.8

SELECTED RESPONSE

Select the correct answer.

1. What inequality has the solutions
graphed on the number line?

2. All of the students in a class are older

than 10 years. What inequality represents

the ages a of the students?
@ a<10
@ a<10
© a>10
B az=10

3. Dianne is 5 feet and 6 inches tall. Manuel

is taller than Dianne. What inequality
represents Manuel's height h in feet?
Recall that there are 12 inches in a foot.

A h<56
B)Yh>56
© h<55
® h>55

4. Jay jogs daily for exercise. He jogs faster
than 3.5 miles per hour every day. Which

inequality represents Jay's jogging
speeds s7

A s<35
B s<35
(€ s>35
O s235

Select all correct answers.

5. Which inequalities share some solutions
with x = 37

@A x>3
B x<0
© x<3
® x=5
E x<3

CONSTRUCTED RESPONSE

6. Jenna eats dinner at a restaurant. Her bill
is $14.50. Jenna pays her bill and leaves
a tip. Write an inequality to represent the
total cost of Jenna's dinner.

7. Describe the values graphed on the
number line in words. The number line
represents the solutions of what
inequality? How many solutions does this
inequality have?

-4-20 2 4 6 8 101214 16

8. Graph the solutions of x<2and x<2 on
the number lines. How are the solutions
of the inequalities similar? How are
they different?

Original content Copyright @ by Houghton Mifflin Harcourt. Additions and changes to the original content are the respansibility of the Instructor.
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Date Class

9. Keith wrote the inequality x < 4 to
represent the statement “a number x is
less than 4." He graphed the solutions of
the inequality on the number line shown.
Did Keith write the inequality and graph
the solutions correctly? Explain.

& [l
~ 1

-1 0

>

O

1 1 ) 3
¥ ] T 1 ) 1 T
2 3 5 6 7 8 9

—

10, a. The value of n is less than 20, Write
the inequality that represents the
value of n and graph the solutions on

the number line.

)
w

b. The value of mis greater than 5.
Write the inequality that represents
the value of m and graph the
solutions on the number line.

s
W

c. Describe the solutions graphed in
parts a and b, Find any common
solutions to both inequalities.

11. Savannah'’s daily commute from home to
work is more than 35 miles each way.

a. Write an inequality that represents
this situation.

b. Graph the solutions of the inequality
from part a.

D e i o B o o

c. If Savannah travels 35 miles from
home, is it possible she is at
work? Explain.

12. The graph on the number line shows the
different amounts of money in dollars that
Liam saves weekly.

30 32 34 36 38 40 42 44 46 48 50

a. Liam wants to save as much as or
more than he did the week during
which he saved the least. Write an
inequality that represents this
situation.

b. Describe the solutions of the
inequality from part a in terms of the
situation.

¢. Does every solution of the
inequality represent a realistic
amount? Explain.

Original content Copyright @ by Houghton Mifflin Harcourt. Additions and changes to the criginal content are the responsibility of the instructor.
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Date

Class

6.EE.9

SELECTED RESPONSE

Select the correct answer.

1. The graph below shows the relationship
between the number of miles a person
walks and the number of hours spent
walking. What equation best describes
the relationship between the two
variables?

1\d
ol f
el 1]
g7 /
T 6
E;' 5 / ...........
E 10 R AVUPOE UOUO OO SN SRR RO SRS OO
R e o
b 0 NN SRS U HOOUNS SRR SN SHURUN SUPP OO
L I S R PR SRR SO VU AOR SO S
( >
12 3 456 7 89 t
Time (hours)
@ t=4d
® d=4t
© t=d
1
®d"2t

2. A gardener is growing tomato plants. One
plant starts out 5 cm tall. It grows a
constant 2 cm every week. What
equation represents the height h of the
plant after t weeks?

@A t=5h+2
B t=2h+5
Ch=5t+2
D h=2t+5

3. The table below shows the balance of a

savings account after { weeks, where
money is being withdrawn at a constant
rate. Peter can find the balance of the
account based on how many weeks
have passed. What are the independent
and dependent variables, and how do
they change?

Time Balance
(weeks), (dollars), b
0 850
1 800

2 750
3 700

(A As the independent variable ¢
increases by 1, the dependent
variable b increases by 50.

(B) As the independent variable ¢
increases by 1, the dependent
variable b decreases by 50.

(© As the independent variable b
increases by 1, the dependent
variable t increases by 50.

(@ As the independent variable b
increases by 1, the dependent
variable { decreases by 50.

Select all correct answers.
4. Gloria is an artist. She sets a goal to paint

2 pieces every month. She has already
painted 5 pieces. The number of pieces
Gloria paints depends on the number of
months she spends painting. Which
statements describe the number of
pieces p Gloria paints over { months if
she meets her goal?

@& p is the independent variable and ¢ is
the dependent variable.

(B tis the independent variable and p is
the dependent variable.

(© pincreases by 2 as fincreases by 1.
(B tincreases by 2 as p increases by 1.

(B> The equation representing the
situation is p = 2f + 5.

Criginal content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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CONSTRUCTED RESPONSE 7. The table below shows the number of
5. An online bookstore is having a sale. All words w a person types after ¢ minutes.
paperback books are $6.00, with a flat The number of words typed per minute is
shipping fee of $2.50. Write an equation a constant 52,
that represents the total cost ¢ based on Time Number of
buying b books. ldentify the independent (minutes), t words, w
and dependent variables and how the 0 0
dependent variable changes in relation to 1 52
the independent variable. 2 104
3 156

a. The number of words typed is
determined by how many minutes
the person spends typing. What
are the independent and
dependent variables?

6. The graph below shows the relationship
between the number of pencils bought

and the cost. Describe the relationship
between the two variables. Use this
relationship to write an equation relating
the two variables,

I\c

b. Graph the values from the table.
o Tw

Cost {dollars)
- N W A O ®» -~ D W

Tl

12 3 45 6 7 89 p
Pencils

L 4

c. Write an equation that represenis the
situation.

Original content Copyright ® by Houghton Mifflin Harcourt, Additions and changes to the original content are the responsibility of the instructor,
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Name Skill

Practice on Your Own Skl"

Order the numbers from greatest to least: 1.37, 1.56, 1.23, 1.59.
List the numbers. Compare two numbers at a time.

1.37

1N Compare these 1.3‘7 O 1%3 1.37 > 1.23
1.56 first. Their 3I>2
1.23 4 tenths digits

are different. 1.37C 156 ‘ 1.37 < 1.56

1.58 3 7
0 3<5
The ones digits 1.56 C 1.59 1.56 < 1.59
are the same. T A

6 <9
Ordered from greatest to least: 1.59, 1.56, 1.37, 1.23

Use the number line. Write >, <, or = for O.

l I ] 1 ] L 1 ] [
1 I ] 1 [

1 []
I T
0 0.01 0.02 0,03 0.04 0.05 0.06 0.07 0.08 0.09 0.10

A

0 0.09 O 0.02

I l ! L ] I ! I I [
I I 1 | 1 ! I

0 0.25 O 0.30 g ;
0.20 0.21 0.22 0.23 0.24 0.25 0.26 0.27 0.28 0.29 0.30

005001 <

LR Y Ty Ty LR Y Y R RN P Y Y R L L) teasnesnsrnanns Y Y TP Y RbussereresrrRIRaS TR

Use place value. Write >, <, or = for O.

0 2.06 O 2.10 0 48 O 4.19 O 7.36 O 7.36

ones |. | tenths | hundredths ones | .| tenths [hundredths ones | .| tenths [hundredths

Order the numbers from least to greatest, or greatest to least.

o 3.42, 0.89, 0.91 o 2.65,0.03, 24,05 o 1.18, 1.27, 1.11,1.3
least greatest least greatest greafest least

) i Check |

In Exercises 10 and 11, write >, <, or = for O.

@ 072 O 0.7 @ Order from great- @ Order from least to

est to least. greatest,
@ 2.83, 1.7, 2.48, 2.38 1.38, 0.5, 1.83, 1,18
5.28 O 5.29
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Skill

Name

Practice on Your Own

Think:
Find the names for 1 in fraction form,
Then add the names for 1 and the

fraction, 12_5,5.2
Write the sum as a mixed number. 5> 5 55
=1+1+2
=2+2
- 2%

----------------------------------------------------------------------------------------------------------------------

Write each improper fraction as a mixed number.

o [ . 0,0, 0.0 g 0,0 ,0
o§—7+7+7+—2—+7 eg—?ﬁ-?-l--g—

|

wiG
Il
Ol
+
|||
+
O|O

Skill

02

Write each improper fraction as a mixed number.

®%= @%=

96
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Name Skill

Practice on Your Own

Think:

Write the whole number as a sum of ones.
Write equivalent fractions for the ones.
Add the numerators to find the fraction.

---------------------------------------------------------------------------------------------------------------------

Write each mixed number as an improper fraction.

04% (2 23

11111 ---]

4—=1+1+1+1+— 2——1+1+-
O . O,0,0,1 N I s
=zt tTiT v =7 t7T T3
g _0
O O

0 °3§

3.3_
2 _

O
+ + g
2 _ 2 _g,0.0.d
3 1+1+1+ ~S*gto* o
0.0, 0,2 O
=3t3*t3 73 =0
_
=0
1 5
0. 0
2%=_+_+% 32 + + +%
g, g g O |
“gteto SRR
-0 0
0 0

Write each mixed number as an improper fraction.
O ®.- @ .-
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Name Skill

Practice on Your Own Ski"

Use Facts You Know Use Patterns

6X5=0 Look for patterns to help you

If you know: remember multiplication facts.
5X5=25 For products of 9 and 1 through 9,
Then think: the digits of all multiples of 9 add up
6 X5={xX5)+5 0r30 to O,

S0, 6 X 5 = 30, Products of 10 end in 0.

For products of 11 and 1 through 9,
you see the same digit in the tens
and ones place.

Products of 12 end in 0, 2, 4, 6, or 8.

----------------------------------------------------------------------------------------------------------------------

Use facts you know.

04><8=_ °5><8=_ °6><8=__

S0,4X9=____ S0, 5X9=___ So,6 X9 =

°3X5=_ °2><5=_ °4><3=_

----------------------------------------------------------------------------------------------------------------------

Use patterns.

o 10 X5=___ 10X6=_o 1MMX3=__MN" X4=_° 12X4=___ 12 X5=___

1M0X7=__ 10X8= 11 X5 = M"MXe=__ 12X6=___12X7=___

----------------------------------------------------------------------------------------------------------------------

8X71=___ @10X9=_ @9><11=_ @‘IZXS__

«J Check ,
Multiply.

®4><7=_ @6x6=_ @1o><3=___ @11><7=__
®1o><5=_ ®7><9=___ @5><11=_ @12><11=__

156 Holt McDougal Mathematics

® Houghton Mifflin Harcourt Publishing Company



Skill

BPIS INOU DY} O} 09

3 3 :
.|..HN_.+ww.om .Ilnm+mm.om T =6+18'0% : T =9=+gr'0og
v8Sl T X T ojuyL GG ST X G UYL 18sl T X6 HuyL 8rSI T X 9 DUy
luNTqmom s @ EAEY - ¥ T @
"9pIAIp 0} uonedf|diynw asn
PPL T6L OTLIBOL| 96 ¥8 L 09 ® 9% KT U O T ‘6 =121+ 80L PUB SOl =6 X ZL ‘0§
TEL ITL OLL 66 88 LL 99 S5 b €€ T L O W 6 5191 o1 ‘6 =1+ £9'0%
0ZL OLL 0Ol 06 08 O/ 09 05 Ov Of 0Z OL O oL o3 J© MOI-10J00] mﬁﬁHouu& 9= 6 x/
80L 66 06 18 TL €9 ¥5 Sv 9¢ /T 8 6 O 6 : B
) uLg * woy dn aoeiy - —
96 88 08 TL 59 95 8 Oy € HZ 9. 8 O 8 W pUid 801 H.moﬁ vﬁw € L =£-¢9
¥8 LL OL €9 95 6V T SL 8 1T #L L O L - MOI-7T ST SSOIo® Yool Tot T -
7L 99 09 ¥S 8 T 9% 0L $Z 8 U 9 O 9 ¢1 oM M.~ MH [ 19
09 S5 05 S¥ O S€ Of ST OC SL O S O § . o5 4 too.m. SI IBQUING JRYM
8 v Ob 9 T ST $Z OZ 9L T 8 b O b LIS T010R) WMMHH.B%%ﬁMGMoM UG £ AL
9¢ €€ 0f [T ¥C lz 8L SL U 6 9 ¢ 0 ¢ b g - .
VT T2 0 8L 9 ¥ W O 8 9 ¥ T O 2 S10®J UOISIAID 10 sjuenonb yuenonb sty puy 0}
Lol 6 8 £ 9§ ¥ £ 7 L o L puiy o3 mjﬂ uonjenfrdnnu e 1orJ uoryeotdnmua
O 0 0 0 0 0 0 0 6 0 0 0 0 o OSTL TeD NOA "UOISTATD JO 9SISAUIT Ppole[aI B JO UL
I u o 6§ 8 £ 9 S ¥ € T 1 0 x 91} st uoneddrmur aduIs =L+ ¢€9

Name

PR Y Y Y

S

'S1OBJ UOISIAID [|€d8. djay 03 eapl siyl asn "uoiedl|diynwi jo asidAul 1o asoddo ayy si UoISIAIQG

$39DJ UOISIAI(Q

Aueduwiog Bulysiigng uneaiey uyyly voybnay @

Holt MeDougal Mathematics

163



Narne Skill

Practice on Your Own

Find: 27 +-3=0 Find: 48 +6=0
: Use the multiplication table.

~Think: 3 times what ¢ L.ook across the top
« um to 6 x 0 1 2 3 4 5 6
row 1o b. 6 0 0 0 0 0 0 O
3% 9227 * Thenlookdownto48. |1 o 1 2 3 4 5 &
So. 27 -3 =9 ¢ Trace back from 48 2 0 2 4 6 8 10 12
d ) to find the factor at 3 0 3 6 9 12 15 18
the far left. It is 8. : g : :} 1@ ;2 3‘5’ ;;
So, 6 x8=48 6 0 6 12 18 24 3036
and 48 + 6 = 8. 7 0 7 14 21 28 3B 42
8 0 8 16 24 32 4048

----------------------------------- A A R e L Y Y Y N Y N R R R RIS

Use multiplication to divide,

o Think: o Think: o Think: o Think:

7X4=___ 9x7=___ 4x10= ___ 12xX4=___

S0, 28+7=___ 850,63 +9=___ 50,40 -4 = __ 50,48 +12= __
e Think: o Think: o Think: o Think:

EXoe=___ TX7T=___ I3IX12=__ 9X10=___

50,30 +5=___ 50,49 +7=___ S0,36+3=___ 50,90+9=___
Divide.

Qs @33+3=_ @42+7=_ @54+9=_
Qus- Dun-r- Ou.u- Qaero_
17 SO @24+3=_ ®s1+9=_ @56+7=__
@49+7=_ @108+12=_ @72+12=_ @48+12=____

Divide.

@35+5=_ @22+11=_ @99+9=___ @60+12=_
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Narne Skill

Practice on Your Own Skill

Use a pattern to multiply by 10, 100, and 1,000.

08x10=28 0.09 X 10=09 Multiply by 10. Decimal point moves 1 place to
the right.

0.80 X 100 = 80 0.09 X 100 =9 Multiply by 100. Decimal point moves 2 places
to the right.

0.800 X 1,000 = 800 0.090 X 1,000 = 90 Multiply by 1,000. Decimal point moves 3
places to the right.

------------------------------------------ LR AR L e Y R R N Y P Y PN E Y R Y Iy

Find the product.

o10><0.5=— e10><0.18=

100 X 0.50 = 100 X 0.18 =
1,000 X 0.500 = 1,000 X 0.180 =

07.6 X 10 =

7.60 X 100 =
7.600 X 1,000 =

------------------- R L Y Y R N Y I s

Find the product. Tell how many places you moved the decimal to the right.

°10><0.9= °0.2X100=_ °‘I,OOO><1.9=

Move place(s}. Move place(s). Move place(s).
© 100x24- (8 o00xs0s— € os1x10-
Move place(s). Move place(s). Move place(s).

Find the product.

@ 57X 1,000= ____ @ 1.23 X 10 = @ 0.07 X 100 =

4 Check
Find the product.

@ 10 X89=
@ 1.6 X 10 =

@ 1,000 X 0.04 = @ 100 X 5.38 =

@ 839 x1000=___ @ 27 X100 = _____
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Name Skill

n
Practice on Your Own Skill
Sometimes there . Algebraic
Word Expression .
is more than one P Expression
operation in an the difference of the product of a and b and 7 ab-7
expression. subtraction multiplication
v less than the quotient of 64 and 8 %4 —y
division subtraction

---------------------------------------------------------------------------------------------------------------------

Write the operation and algebraic expression for each word expression.

o the product of m e 8 less than x o the quotient of 24
and 2 Operation: and ¢

Operation: . Algebraic expression: Operation:

Algebraic expression: Algebraic expression:

o the sum of 4 and s 9 5 times b o r decreased by 11

Operation: ___ Operation: Operation:

Algebraic expression: Algebraic expression: Algebraic expression:

---------------------------------------------------------------------------------------------------------------------

Write the letter of the word expression for the algebraic expression.

Q: O s Q.. D

a. the product b. a number ¢ ¢. t decreased d. the quo-
of 5and t plus 5 by 5 tient of ¢
and 5

Write the operation(s) and algebraic expression.

@ the sum of 3 and @ the difference of @ 6 less than the
the quantity 8 the product of 7 quotient of a and 4
times p and n and 4

| Check

Write the operation(s) and algebraic Write the letter of the word expression
expression. for the algebraic expression.
@ the sum of @ 8 less than @ 10m ———— @ 10+ m
17 and x the product a. 10
of 29 and y increased b. 10
—_— by m times m

224 Holt McDougal Mathematics

© Houghton Mifftin Harcourt Publishing Company



Skill

"apIs 1Xau sy} 0} 09

uiod [ewDap
SUI A0 11°9(59°0

§9°0 = 1179 o

sEssasssNNsEbvunennns LR R TR PR Y YRR R TRy

CANsAGERASEURELEIED 3

saoe|d |ewpdep -
aveld [ewpep O+ — 7T X
- ET¥

L XETY o

saoeld |ewpap O

Y Y Y]

-------- LR R Al N Y N L T s

‘sjewpap ubyyy 6 VC—
9’y

6V — 9'SY o

‘sjewpap ubyy 6EPS+
£CLL

6E'vS + ETLL o

GsstssusuNasnsnnnen &

"3A|0S

0
siagqunu SZL

BJOYM JO} pjnom  GL1(SE
nof se papiald 0

AT A
SL1S'E
"PUSPIAIP 213 ut jurod [ewrmap
3] SA0W pUR IBCUITIE S[OM B
03 10SIATp O} SBURYD G4 I(S'E
wapqoid ay3 syumay

- ge + o' purg
slewpaq Buipialg

sooeld jlewpep £ > Z/6°0
aoed jlewpep 1+ - £0 X
sozeld |lewpep z - tTE

2onpord sy ur saoerd rewwap
JO I2qUINU 31} SUTULI(]

‘wR[qoxd a1 aImayy

€0 X ¥oe PU
sjewnaqg BulAdi N

‘buipesigns
uaym dno.bau

pue siopjoyaseid 8L°LL
SeS0I9Z  ZE/LL—
ppe ‘fessadau §I  QSpE S
- ppe  ove+
SvE €6'8
‘poubre -poubrre

are sjurod [ewmo9p 21
0s warqoIid a1} LMY

oIe sjurod [eWIDap o1
0s we[qoxd ay] ayumay

CTELT — §vE pulg
sjewpsq bunoenqns

9¥'C + £6'8 puig
slewaq Buippy

Name

1S

LR R Y Y P Ty TR T Ty PEESEIRITIITIIIIIIIYIRREICETIIRTSE L R R Y R R Y TR Ry Sy BESRNINBIITIEIIBLILIEIERIRISNLIIARTETY

suonInIddQ rwIraQq

Auedwog Bujysignd 1noaiey unpi ueybnoy @

Holt McDougal Mathematics

171



Name Skill

Practice on Your Own Skl"

Think: To add and subtract decimals, align the
decimal points.

Think: When multiplying decimals, determine the
number of place values the product will have.

Think: When dividing decimals, remember to move
the decimal point so you are dividing by a whole

number.
Solve.
o 74.25 + 21.38 e 217 x 0.4 e 797 = 2.1
74.25 align 2.17 <« [ decimal place 2.1)7.77 move decimal
+21.38 X 0.4 <+ +[ decimal place
< [ decimal places
Solve

o 9.73 + 3.688 o 80.2 — 4.57 o 6.45 + 1.2
o 3.69 ~ 0.4 o 6.1 X 3.7 o 0.5 X 0.85

Solve.

@ 23.81-54 @ 11.52 = 3.2 @ 37.4 + 8.01

@ 9.71 — 3.226 @ 0.75 X 4.1 @ 9.51 X 0.7
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Name skill

Practice on Your Own Skl"

Find 2 of £.

Think:
To find the product 3 x :

The shading

¢ multiply the overlaps in 12 of
the 20 squares.
numerators ‘
¢ multiply the I
denominators

. simplify the answer.

1.1 2.1 4 .5
o ng e '§XE o EXE
11 Hx0O 2,1 _HxO a.s5_0Ox0O_0O
475 Ox0 376 OxO 5%6T0x0 0O
_B _a _4
L [ -0
101 3.1_ 5.3_
o §X7-—- o ng— o "Q'XE-—
Check

]
win
X
oolw
Il
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Name Skill

Practice on Your Own

Do the operation inside the parentheses first.

Evaluate, Associative Property of
Multiplication
4X((2+6+1) 6X(4X5)=(6x4)x5
\! \J
4x9 6X(4x5)=(ax4)xX5
36 So,a=6

---------------------------------------------------------------------------------------------------------------------

°7><(3><2)
l

7 X —

Evaluate the expression.

0(4+6)+3 9(10—4)+6
L d

— +3 — +6
\) 2 3

015—(6+8)

°(1S—G)+8

---------------------------------------------------------------------------------------------------------------------

Solve the equation

o 10

(AxX6)+{4X1)=cx{6+1) a+(3+5=@2+3)+
@xXe)+@xN=4xX{E+1 2+(3+5)=(2+3)+5
(= — a= —

12 ®

Skill

Distributive Property of
Multiplication

6GX3)+(BX=bXB+2)
!
5X3)+(5x2=5%X(3+2)

So,b=5

°3><(9—6)
l

8X6X4=pXx8X4
8X6X4=6%X8x%x4

p=—

o

7xX®+2)=(bxX6)+(bx2) y+6+9=9+6+1 X5 Xx11=9X(5X¢c)
b= —— Y= — C= —

o Check ,

Evaluate. Find the value of y.

@27+(30—7) @35—(24+11)

®7x(6+2) (v X 6) + (y X
)y=

212
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Name Skill

|
Practice on Your Own Skill
Sometimes there . Algebraic
Word Expression -
is more than one p Expression
operation in an the difference of the product of a and b and 7 ab~7
expression. subtraction multiplication
y less than the quotient of 64 and 8 68_4 —y
division subtraction

---------------------------------------------------------------------------------------------------------------------

Write the operation and algebraic expression for each word expression.

0 the product of m 0 8 less than x 9 the quotient of 24
and 2 Operation: and ¢

Operation: ___ Algebraic expression: Operation:

Algebraic expression: Algebraic expression:

o the sum of 4 and s o 5 times b o r decreased by 11

Operation: _____ Operation: _________ Operation:

Algebraic expression: Algebraic expression: Algebraic expression:

---------------------------------------------------------------------------------------------------------------------

Write the letter of the word expression for the algebraic expression.

7 I 0 s Q:..5_ D,

5
a.

the product b. a number ¢ c. t decreased d. the quo-
of 5and ¢ plus 5 by 5 tient of ¢
and 5

Write the operation(s) and algebraic expression.

@ the sum of 3 and @ the difference of @ 6 less than the

the quantity 8 the product of 7 quotient of a and 4
times p and n and 4
Check
Write the operation(s) and algebraic Write the letter of the word expression
expression. for the algebraic expression.
@ the sum of @ 8 less than @ 10m ——— @ 10+ m
17 and x the product a. 10
_— of 29 and y increased b. 10
_— by m times m
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Name skill

Practice on Your Own Skl"

Remember:
When you multiply a negative

Evaluate (x + 3)° + 4xy, forx =7 and y = 2.

2 .
number by a positive number, the **3 *4v Replace x with 7 and
product is a negative number. v , { ~ y with 2 _

(7+3) +4e7e72 Operate inside
parentheses.
10°+4e7072 Evaluate 10",
100 +4e7e 72 Multiply.
100 + 28 » 2 Multiply.
100 + —56 Add.
44

The value of (x + 3)° + dxy is 44,

------------------------------------- LR R e Y R PN Y PN Y P wry

Evaluate the expression for the given value of the variable. Write each step.

©. - ©r-:

n=2 5(p + 10)°
7mn — 3 Replace m with 5 5¢[] +10)° Replace p with ~8.
7¢[Je[J~3 andnwith?2. Parentheses
Is\/hl};l:lph{' _ Exponents
ubtract. Multiply.
The value of 7mn — 3 is . The value 5(p + 10)2 18
°t=24 °z=—4 °p=7,g=—3
¥ +8 Think: 3(z+8)" Think: pg + 12
Multiply. —— Parentheses
Divide. — then
Add. —_ exponenis
Value: Value: Value:

Evaluate the expression for the given value of the variable.

°5c2forc=3 0‘2ab+3for 03(n+5)2forn=4
="1landb="6
Value: Value: Value:

4 Check

Evaluate the expression for the given value of the variable.

020+5dford=_2 @%xy+7f0r @ A(t—1)fort=7
x=2andy=38
Value: Value: Value:
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Name Skill

| |
Practice on Your Own Skill
Remember: ) . Evaluate (x + 3)° + 4xy, forx =7 and y = ~2.
When you multiply a negative 2 .
number by a positive number, the (i( +3) +axy Replace x with 7 and
) \ ' with ~2.
product is a negative number. » d _ Y o
(7+3) +4e7e 72 Operate inside
parentheses,
10°+4e70 2 Evaluate 10",
100 + 4772 Multiply.
100 + 28+ 72 : Multiply.
100 + 756 Add,
44

The value of (x + 3)° + 4xy is 44.

------------ L R R R NN S R E s T T

Evaluate the expression for the given value of the variable, Write each step.

°m=5 ep=_8

n=2 5(p + 10)
7mn — 3 Replace m with 5 5( ] + 10)° Replace p with ~8.
7e[ Je[ ] -3 and n with 2. L Parentheses
 — Multiply. - Exponents
Subtract, Multiply,
The value of 7mn - 3 is : The value 5(p + 10)2 is
°t=24 °z=—4 °p=7,g=_3
¥ +8  Think: 3(z+8) Think: pg + 12
Multiply. —_ Parentheses
Divide. —  then
Add. — — exponents
Value: __ Value: __ Value:

Evaluate the expression for the given value of the variable.

°5c2forc=3 o —2ab + 3 for o 3(n+5) forn=4
a="landb="6
Value: Value: Value:

4 Check

Evaluate the expression for the given value of the variable.
020+5dford="2 @%xy+7for @ 4(t— 1) fort=7
x=2andy=8
Value: Value: ‘ Value:
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Name Skill

)
-»
Practice on Your Own Skill
Think: Word Sentence Algebraic Equation
Use the word sentence 10 is 3 more than a number.
to determine the operation, equals addition unknown 10 =x+3
the unknown value. or 4.5 less than a number is 3.2,
abl d th 1' subtraction unknown equals Xx—45 =32

vanab.e, an €Pp _ace- Twice a number  is 756,
ment of the equal S1g1. multiplication unknown equals 2x = 756
Then write the equation. A number divided by 6 is 1.

unknown division equals ’é = %

Write the operation. Then write an algebraic equation for the word sentence.

o A number plus 0 The difference of a 9 The quotient of a

81is 19. number and 6.8 is 1.1. number and 3 is 9.
Operation: Operation: Operation:
Equation: Equation: __ Equation:

o Twice a number e 31 is 8 more 0 A number divided
is 30. than a number. by 16 is 3.
Operation: Operation: Operation:
Equation: Equation: _______ Equation:

------- L e L T T YTy

Write an algebraic equation for the word sentence.

o A number increasedo 16 less than a o 7 times a number
by 12 is 45. number is 5. is 735.

@ 28.91s 7.2 more @ The product of a @ The quotient of 8
than a number. number and 3 is 33. and a number is 2.

o] Check ,

Write an algebraic equation for the word sentence.

@ 7 times a number @ 19.2 decreased by @ A number
is 84. a number is 6.7. divided by 6 is 2.

@ A number increased@ 15 less than a number @ 3 times a number
by 12 is 67. is 82. is —36.
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6.RP.1 Answers

5 C,E
6.A,D, E
5 cups of bread crumbs
" 9 pounds of ground beef

Rubric
1 point for correct ratio

4
8. 4:1 4 {0 168 or —
Gord4to or 16

Rubric
1 point for finding the correct quantities;
1 point for the correct ratio

9. The number of boys in fifth grade is 100,
and the number of boys in sixth grade is
100 - 7 = 93, for a total of 100 + 93 =193
boys in the middle school. The number of
fifth grade girls is 110, and the number of
sixth grade giris is 93 + 10 = 103, for a
total of 110 + 103 = 213 girls, The ratio of
girls to boys in the middle school is
213:193.

Rubric

1 point for correct answer; 2 points for
showing appropriate work

a. 1:11

1

11

¢. There are more students because

10.
b.

there are 11 students for each teacher.

Rubric

a. 1 point

k. 1 point

¢. 1 point for correct answer; 1 point for
correct explanation

11. a. 1%cups of ingredients

b. No; there is twice as much water for
uncooked rice, but the amount of
water is not twice the total amount of
the ingredients. The ratio of cups of
water to total cups of ingredients

oL
|s1.12.

Rubric

a. 1 point

b. 1 point for knowing that the ratio in b is
not correct; 1 point for giving the
correct ratio

12.a. 3:5

b. No; the ratio says that Erica wins
3 games for every 5 games played. It
does not teli you the total number of
games played.

Rubric

a. 1 point

b. 1 point for correct answer; 1 point for
appropriate explanation

Qriginal content Capyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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6.RP.2 Answers

1.B
2.A
3.A
4.D,E
5.A,B
6.B
7.A
8.G
9.E
10.D
1. a. 180 students - 9 students
20 teams 1 team
180 students 12 students
15 teams 1 team ; there are
12 students on each team.
Rubric
a. 1 point
b. 1 point
12. Kyle divided the numerator and

13.

denominator by 2 to find the unit rate.
Kyle should have multiplied by 2 to find
the price per pound.

$2.98-2  $5.96

1 pound

1
— nd e
pou 2

The ham is selling for $5.96 per pound.

Rubric

1 point for identifying the error; 1 point for
the correct unit rate; 1 point for showing
appropriate work

$590 _ $590 _ $0.37
1pound 16 ounces 1 ounce
Rubric

1 point for answer;
1 point for appropriate work

14. Wholesaler C has the lowest price per

pound.
Wholesaler A:

$40.00  $40.00+-10  $4.00
10 pounds ~ 10 pounds +10 ~ 1 pound
Wholesaler B:

$45.00  $45.00+15  $3.00
15 pounds 15 pounds +15 1 pound
Wholesaler C:

$50.00 _ $50.00+20 : $2.50
20 pounds ~ 20 pounds =20 1 pound
Rubric

1 point for each computation; 1 point for
identifying the wholesaler with the best
price

John and Maria spent $4.25 per hour for
the trip.

John and Matria spent

$9.00 + $5.00 + $3.00 = $17.00 for the
trip.

Their trip lasted 4.25 hours because they
started at 11:30 A.M, and finished at
3:45 P.M.

The ratio of money spent to time hiked is

15.

%;7% and the unit rate is

$17.00 _ $17.00+425 _ $4.00
4.25 hours  4.25 hours +4.25 1 hour
Rubric

1 point for the correct unit rate; 4 points
for showing appropriate work

Original cantent Copyright ® by Houghton Mifflin Harcourt. Additions and changes to the ariginal content are the respensibility of the instructor.
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6.RP.3a Answers

6.

-
T 00>

Yes
No

c. Yes
d. Yes

Fuel (kg) 63 [ 70| 84 | 98 | 112

Additive (g) | 27 {30 | 36 | 42 | 48

Rubric
1 point for each correct value

. Option B

Option A can travel 22 miles on 1 gallon,
Option B can travel 23 miles on 1 gallon,
and Option C can travel 20 miles on

1 gallon. The ratio of distance to fuel is
highest for Option B.

Rubric
1 point for the correct option; 1 point for a
correct explanation

8.
Distance
{miles) 800 | 1600 | 2400 | 3200
Time (hr) 2 4 6 8
J\d
; Y1
3 s
gz
-:='1 //
8 y 4
7 s
znmﬁums 8 t

Criginat content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.

(Students may switch which quantity
goes on which axis for fuil credit, as long
as they apply their decision correctly.)

Rubric

1 point for each correct ordered pair in
the table, 2 points for a correct graph

9. a.
Distance (mi) | 50 | 100 | 150 | 200 | 250
Time (hr) 1 2 3 4 5

b. The ratio of 250 miles to 5 hours would
change.

¢. | would expect the ratio to be lower
because the car would travel a smaller
distance in one hour if it had to stop for
repairs.

Rubric

a. 0.5 point for each entry in the table

b. 1 point for noting that the ratio of

250 miles to 5 hours would change

¢. 2 points for explaining how the ratio
would change and why

Grade 6 Teacher Guide

3
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6.RP.3b Answers

S ok~

B
D
A
D
A
a.

The small truck traveled at 60 miles
per hour, and the large truck traveled
at 45 miles per hour.

b. The trip took the small truck 3.75
hours and the large truck 5 hours.

Rubric

a. 0.5 point for each correct speed

b. 0.5 point for each correct time

. The two shoppers did not buy the same

kind of meat; the first shopper paid $3.29
per pound, and the second shopper paid
$4.19 per pound.

Rubric
1 point for the correct answer; 2 points for
an appropriate explanation

.a. No; Lupita paid $2.40 per pound for

her pretzels. Charles paid $2.55 per
pound for his pretzels. Lupita got a
better deal because $2.40 per pound
is less than $2.55 per pound.

b. $17.85

Rubric

a. 1 point for correct answer; 2 points for
explanation

b. 1 point for answer

9.

10.

Sam should rent the first car and bring
$70.60 for gas.

The first car gets 15 miles per gallon,
while the second car only gets 12 miles
per gallon. Sam shouid choose the first
car, Sam'’s estimate for how much he will
pay for gas indicates a unit rate of $3.53
per gallon. At 15 miles per gallon, Sam
will need 20 gallons to make the 300-mile
trip. So Sam should bring $70.60 for gas,

Rubric
1 point for the correct car;

1 point for correct amount of money for
gas,

3 points for appropriate explanation with
necessary calculations

If Martha buys all the $1.29 songs and 6
of the $0.99 songs, she will be getting 9
songs for $9.81. She will pay $1.09

per song.

$9.81 _ $9.81+9 _ $1.09
9songs 9songs+9 1song

If she buys the album, she will be getting
12 songs for $9.99. She will pay $0.83
per song.

$996  $9.96+12 _ $0.83
12 songs 12 songs+12  1song

The whole album is a better deal in terms
of price per song.

Rubric:
1 point for the answer;

1 point for the price for just the songs
she likes;

1 point for each of the unit rates

Criginal content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the criginal content are the responsibility of the instructor.
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6.RP.3¢c Answers

—
e

1.

12,

© N Ok N~

B

c

C

c

C.E

c

B

F

A

E
4.75

a. $20x 7 =$0.95

b. $20%-° =$1.20
100

$1.20 - $0.95=$0.25

She would pay $0.25 more in sales tax in

South Carolina.

Rubric

a. 1 point

b. 2 points

a. 4,000; 400; 40

b. When the percent is multiplied by 10,
the resulting whole is divided by 10.

c. 200; the percent changed from 2.5%
to 256% (a multiplication by 10), so the
whole, 2,000, will be divided by 10:
2,000 + 10 = 200. Sq, 25% of 200
is 50.

Rubric
a. 1 point for each correct answer
b. 1 point for the explanation

¢. 1 point for the explanation; 1 point for
the answer

13. a. $410

b. Write 82% as a fraction with
denominator 100. Then multiply by
Jane’s regular pay.

82
100 500=410
The answer, $410, is the same as
part a.
¢. To find n% of an amount A:
n nA
A_TOE . A=A—m
Also;

100 n
——-—— A
[100 100]
Use the distributive property and

simplify.

{100 n ), 100 n

]A_ "A-T00 A

100 100 100

Both methods result in the expression

nA
- 100"
Rubric
a. 1 point
b. 1 point
¢. 4 points

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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6.RP.3d Answers

1.C
2.B
3.B
4. A
5.B,C
6. a. yes
b. yes
C. yes
d. no
7. The chemist has about

4floz » 228ML 1484 mL sohe or
1floz

she needs 500 mL — 118.4 mL =
381.6 ml. more.

Rubric
1 point for correct answer; 1 point for
appropriate work

8. Find the surface area of the box in square
inches.

26in. » 6in)+2(6in. » 12in.)
+ 2(6in. « 12in.)
=2(36 in.2)+2(72 in.2)+ 2(72 in.2)
=72in2+144 in?+144 in2
=360 in.2
Convert the surface area to square
centimeters. Multiply the surface area by
2.54 centimeters
1 inch

Find the number of square meters.

254 cm . 2.54 cm

1in. 1in.
=~ 2,323 square centimeters

Rubric
1 point for the correct answer; 2 points for
appropriate work

two factors of

360in2 «

1 yard

9. 12 feet » 3 oot =4 yards;
1 yard

15 feet « = ;

ee 3 Teat 5 yards;

Area of floor = 4 yards » 5 yards =
20 square yards

10.

1.

Rubric

1 point for correct area; 1 point for
appropriate work

The salesman was in error when he said
there were 3 square feet in a square
yard.

Since 1 yard = 3 feet, 1 square vard is

3 feet - 3 feet = 9 square fest.

The actual number of square yards is
270 square feet » 1 square yard
9 square feet

= 30 square yards

The actual cost is
$12.00

————— =$360.
1 square yard $

30 square yards »
Rubric

2 points for identifying error; 2 points for
calculating actual cost

a.
Juice Milliliters | Cups
Cranberry 3,500 15
Orange 950 4
Lemon 240 1
b. 1 quart of cranberry juice holds 4 cups,
Tquart . 3
50 15 cups « 4_c<]:u_p§=32 quarts .

Because only whole quarts can be
bought, 4 quarts of cranberry juice are
needed, and one quarter of a quart
(one cup) will be left over.

Rubric
a. 1 point for each missing table value

b. 1 point for number of quarts; 1 point
for noting there will be juice left over;
1 point for explanation

Criginal content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the ariginal content are the responsibility of the instructor.
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6.EE.1 Answers

—_—

12

SR NSO LN

. Louis switched the bases and the

exponents. He evaluated 5° + 3% instead
of 3%+ 6%
3°+6°=3x3x3x3x3xBxX6x6

=459
Rubric
1 point for identifying mistake; 1 point for
correct expansion; 1 point for correct
answer

112 %x 23 +3%+93

=(TMx11)(2x2x 2)+
(3%x3x3x3x3)+(9x9x9)

=(121)(8)+243+729

=968+243+729

=1,940

Rubric

1 point for answer; 3 points for work

13.

14.

a. The area of the square is
82 = 8 x 8 = 64 square centimeters.

b. The surface area of the cube is
6 x 82 = 6 x 8 x 8 = 384 square
centimeters,

¢. The volume of the cube is
8® = 8 x 8 x 8 = 512 cubic centimeters.

Rubric

a. 1 point for expression; 1 point
for evaluating

b. 1 point for expression; 1 point
for evaluating

c¢. 1 point for expression; 1 point
for evaluating

a. Kerry puts 2 x 2 = 22 pennies into the
jar on the second day, 2 x2 x 2 =23
pennies into the jar on the third day,
and 2 x 2 x 2 x 2 = 2* pennies into the
jar on the fourth day.

b. For each day, the exponent that 2 is
being raised to increases by 1.

¢. On the seventh day, she will put
27 pennies into the jar.

27=2x2x2x2x%x2x2x2=128

d. There will be $2.54 in the jar at the
end of the week.

Rubric

a. 1 point for each expression

b. 1 point

¢. 1 point for expression; 1 point for
expanding and evaluating

d. 1 point

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor,
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6.EE.2a Answers

1.B 11. a. The number of lights required in the
2.A room is 5.
3.C 5
4.D b. The construction crew has
5.A,C,E §+10 lights.
6.A,CF c. The construction crew has
7.a. + s .
b, — 3—15 lights.
C. + d. The construction crew has
:: ; 2(—;-} lights.
f+ Rubric
8. a. Clark made r + 3 hits in the first hour. a. 1 point
b. Rebecca made 2¢ - 5 hits in the b. 1 point
secand hour. c. 1 point
Rubric d. 1 point
a. 1 point 12. Sal gave Trudy ¢ — 3 apple pies, which is
b. 1 point 3 apple pies fewer than ¢ cherry pies. Sal
9. a. There are t+ 3 lions. should have given Trudy ¢ + 3 apple pies.
b. There are 2(f + 3) bears. (2{+ 6 is also Rubric
acceptable.) 1 point for mistake; 1 point for correction
Rubric
a. 1 point
b. 1 point
10.a. n+3
b.n+3
c.n+3
d. The statements in parts a through ¢
represent the same expression, n + 3.
Rubric
a. 1 point
b. 1 point
c. 1 paint
d. 1 point

Qriginal content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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6.EE.2b Answers

O kL=

>

Product
Difference
Sum
Product
Sum
Quotient

- ® 20T QOO

. The expression is 7(2 + x). The factors of

the expression are 7 and (2 + x).

Rubric
1 point for expression; 1 point for each
factor

. Possible answer:

One sum is 14 + b, with terms 14 and b.
Another sum is b + 27d, with terms b and
27d.

Rubric
1 point for each sum; 1 point for each set
of terms

. The products are 14n and 6. The

coefficients are 14 and 6.

Rubric
1 point for each product; 1 point for
coefficients

.a. Terms: 7x°, 2y, and —8; Producis:

7x% and 2y; Coefficients: 7 and 2

b. First, evaluate x°. Next, multiply 7 and
x* and multiply 2 and y. Finally, add
and subtract terms. The value of the
expression at x=2 and y=-1is 18.

10.

1.

12.

Rubric

a. 1 point for terms; 1 point for products;
1 point for coefficients

b. 1 point for order of operations; 1 point
for value of expression

No, this is not correct. Lara found the

terms of the two sums. The factors of the

product are (5 + s) and (k+ 7).

Rubric

1 point for answer; 2 points for explaining

the mistake; 1 point for each correct

factor

a. The two sums are 56xy + 5 and

—Bx+L

20°

b. The terms of the expression are 56xy,
Y
5, -6x, and ——.
X, an 0
¢. The product is —6x and the coefficient

is —B.

Y

d. The quotient is
g 20

Rubric

a. 1 point for each sum

b. 1 point

¢. 1 point for product; 1 point for
coefficient

d. 1 point

Sums: x+5,y+9,2+x, y+ 23, and

(x+9)y+9)+ (2 +x)(y+23)

Products: (x + 5)(y + 9} and

(2 + x)y + 23)

Factors: (x+ 5), (y + 9), {2 + x),

and (y + 23)

Rubric

1 point for sums x+ 5, y+ 9, 2 + x, and
y + 23; 1 point for sum

{(x+B)(y+9)+ (2 + x){y+23);

1 point for products; 1 point for factors
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6.EE.2c Answers

1.B
2.C
3.A
4.D
5.A,D,E
6. The surface area is 70 square feet.
A=2(5)(3)+ 2(5)(2.5)+ 2(3)(2.5)
=10(3)+10(2.5)+ 6(2.5)
=30+25+15
=70
The volume is 37.5 cubic feet.
V = (5)(3)(2.5)
=15(2.5)
=375
Rubric
1 point for surface area; 1 point for

surface area work; 1 point for volume;
1 point for volume work

7.76
Rubric
2 points
8. a. Mandy has 44 nickels and
g + 10 dimes.

b. If Mandy has $5 in quarters, she has
5.00 + 0.25 = 20 quarters. So, she
has 4q = 4(20) = 80 nickels and
g+ 10=20+10= 30 dimes.

Rubric
a. 1 point for each expression

b. 1 point for number of nickels; 1 point
for number of dimes

9. At k = 5:
11(5)+9-52—%=11(5)+9-25-§
=55+9-25-§
~554+0-25-3
= 64-25-3
=36

10.

1.

12

. a. 7m+10(—q)

Rubric
1 point for answer; 1 point for
reasonable work

in the first line of Mark’s work, he
subtracted 2 from 12 before evaluating
the exponent. The order of operations
states that exponents should be
evaluated first and that subtraction
should be performed last.

42)+12-22=4(2)+12-4
=8+12-4
=20-4
=16

Rubric

2 points for identifying mistake;

1 point for correcting mistake;

1 point for reasonable work

a. The volume of one tissue box is
4® = 64 cubic inches.

b. The volume of the crate will be equal
to the total volume of 32 tissue
boxes, which is 32 x 64 = 2048
cubic inches.

c. No; if you only know the volume,
you don’t kKnow how the boxes
are arranged. They could be in
one layer of 32 boxes, two layers of
16 boxes, etc.

Rubric

a. 1 point

b. 1 point for answer; 1 point
for explanation

¢. 1 point for answer; 1 point
for explanation

3

b. It will cost $69.
7(7)+10{%J = 7(7)+10(2)

=49+ 20
=69
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c. It will cost $51.

7(3)+10(%J= 7(3)+10(3)
=21+30
=51
Rubric
a. 1 point

b. 1 point for answer; 1 point for work
c. 1 point for answer; 1 point for work

Original content Copyright @ by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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6.EE.3 Answers

1. A

2.A

3.C

4.C

5.B,C,E

6. a.

28y —(Tx-2y)+x=23y -7x—(-2y)+x
=23y -7x+2y+x

b. 28y —=Tx+ 2y +x=23y+ 2y —7x+ x
C. 23y+2y—Tx+ x=25y—6x '
Rubric
a. 1 point
b. 1 point
¢. 1 point

7. Possible answer: Use the associative
property of addition to move the
parentheses to the right, and then
combine like terms.
(2x+3y)+y=2x+(3y+Y)

=2x+{4y)
=2X+4y

Rubric
1 point for answer; 1 point for reasonable
work; 1 point for using properties of
operations correctly

8.a. a+n+2a+10

b. Possible answer:; First, use the
commutative property of addition to
move 2a to the left of n,
a+n+2a+10=a+2a+n+10. Then
combine like terms to simplify as
shown below,
a+n+2a+10=a+2a+n+10

=3a+n+10

10.

Rubric

a. 1 point

b. 1 point for answer; 1 point for
reasonable work; 1 point for explaining
use of properties of operations

. a. Areas of faces: ac, ac, be, be, ab, ab

A=ac+ac+bc+bc+ab+ab
=2ac+2bc+2ab
= 2{ac+ bc+ab)

b. Substitute a for b and ¢ in the
expression 2(ac + be + ab).
A=2(ac+ bc +ab)

=2(a*a+aca+asa)
=2(a’+a*+a%)
=2(3a%)

=(2 » 3)a®

=6a®

Rubric

a. 1 point for areas; 1 point for
expression; 1 point for
reasonable work

b. 1 point for answer; 1 point for
reasonable work

Laura did not distribute the negative sign

to 12y when evaluating -4(2x + 3y).

Using the distributive property,

—4(2x + 3y) =—-8x—12y.

12x -~ 18y — 4(2x + 3y) =

12x - 18y - 8x— 12y

Use the commutative property to move

—8x to the left of —18y. Then combine

like terms.

12x-18y -8x—-12y =12x-8x~-18y -12y
=4x-30y

Rubric

1 point for identifying error; 1 point for

correcting error; 1 point for correct

equivalent expression; 1 point for

reasonable work
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6.EE.4 Answers

N
[

11.

© ©® NG A LN~

@ >r»r 0w

.C

D
B

.B,C,E

m

LA p+HE+2(p+ )

b. 3(p+1)

¢. Yes, Blaine and Tanya sold the same
amount. They both sold 3p + 3¢
pumpkins and tomatoes.

Blaine: p+t+2(p+t)=p+t+2p+2¢

=p+2p+i+2t
=3p+3t
Tanya: 3{(p +{)=3p + 3¢
Rubric
a. 1 point
b. 1 point

¢. 1 point for answer; 1 point for
explanation

3 1
a. 1zb+§b

2 1
b. =b+1—
3 +13b

c¢. Peter did add enough flour to his
cookies, but he did not add enough
sugar. He added 2b cups of sugar, but

he needed Zgb cups.

12,

3 1 7 2
1zb+§b—zb+zb
9
==b
4
1
=2-b
4

§b+1§b='§b+§b
3]
_§b
=2h
Rubric
a. 1 point
b, 1 point

c. 0.5 point for each simplification;
0.5 point for each answer

Possible solution:

First, use the distributive property and the
associative property of multiplication to
simplify 2(3 + 3x).
(Bx—12y)}+y+2(3+3x)
=(8X—12y)+y+2+3+2+(3x)
=(8x=-12y)+y+6+(2+3)x
=(8x-12y)+y+6+6x

Use the associative property of addition
to move the parentheses to the right.
Combine like terms inside the
parentheses.

(8x-12y)+y+6+6x

=8x+(-12y +y)+6+6x
=8x-11y+6+6x

Use the commutative property of addition
to move 8x to the right of 6.
8x—-11y+6+6x=-11y+6 + 8x + 6x

Finally, combine like terms.
11y +6+8x+6x=—-11y+6 + 14x
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So, the expression:

(Bx—12y)+y+ 2(3 + 3x)

is equivalent to the expression:

11y + 6 + 14x.

Rubric

1 point for answer; 3 points for using

properties of operations correctly

13.a. 2(n+ 1)+ n+3+n+1+n+1+n+2n

b.2(n+1)+n+3+n+1+n+1+n+2n
=2n+2+n+3+n+1+n+1+n+2n
=2n+n+n+n+n+2n+2+3+1+1
=8n+7

¢. No, Nick’s expression is not correct.
His expression simplifies to 8n + 6,
and8n+6=8n+7.
2n+1+2n+4n+5
=2n+2n+4n+1+5
=8n+6

Rubric

a. 1 point

b. 1 point for simplification; 2 points for
reasonable work

c. 1 point for answer; 2 points for
reasonable work

Original content Copyright € by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor.
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6.EE.5 Answers

1.B
2.C
3.B

4.B

5 A,CD
6. x=4:

?
7<5(4)-16

?
7<20-16
7£4

4 is not a solution of 7 < 5x — 16 because
7 is not less than or equal to 4,
Rubric
1 point for answer; 1 point for
reasonable work

7. No. When substituting 7 for x, the left side
of the inequality is equal to
9(7) — 3 =63 — 3 = 60, which is equal to
60 and produces a false statement.
Rubric
1 point for answer; 2 points for
explanation

8. Substituting 1 for x makes the
equation true.
x=0:

\
4(0)+9=13

0+9=13
913
x=1:
»
4(1)+9=13
?
4+9=13
13=13

x=2:

?
4(2)+9=13

K
8+9=13

17 #13

10.

11. a.

Rubric
1 point for answer; 1 point for
reasonable work.

. All values from the set of natural numbers

except for 1 make the inequality true.
When substituting 1 for x, the left side of
the inequality is equal to

6 + 2(1) = 6 + 2 = 8, which is not greater
than 8. When substituting 2 for x, the left
side of the inequality is equal to

6 + 2(2) =6 + 4 = 10, which is greater
than 8. Since the left side of the inequality
increases as the value of x increases, the
inequality is true for all natural numbers
greater than 1.

Rubric

1 point for answer; 2 points for
explanation

a. 300=22.5t+75

b. Yes, Kyle will have enough to buy the
computer if he saves for 10 days
because 10 is a solution of the
equation 300 = 22.5¢ + 75.

?
300=22.5(10)+75

?

300=225+75
300=300
Rubric
a. 2 points

b. 1 point for answer; 1 point for
explanation

1, 2, and 3 are solutions of
112 2x+ 5.
? ?
112 2(1)+5 11z22(2)+5
? ?
11=z2+5 1124+5
M27 1129
2 ?
1122(3)+5 1122(4)+5
? 2
1M126+5 1128+5
11211 1113
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b. 1 and 2 are solutions of 11 > 2x + 5.

? ?
11>2(1)+5  11>2(2)+5
? ?
11>2+5 11>4+5

1M1=>7 11>9

? ?
11>2(3)+5  11>2(4)+5
? ?

11>6+5 11>8+5
1111 1113

¢. The answer from part a includes 3 as
a solution, while the answer from part
b does not.

Rubric

a. 1 point for solutions; 1 point for
reasonable work

b. 1 point for solutions; 1 point for
reasonable work

¢. 1 point

12. Jasmine is incorrect about 3 being a
solution of the inequality 16 = 11x - 6.

The inequality is not true when
substituting 3 for x:

?
16211(3)-6

?
16>33-6
16 ¥ 27
Jasmine is correct that 2 is a solution of

the inequality 16 = 11x — 6. The inequality
is true when substituting 2 for x:

?
16211(2)— 6

2?
16222-6
16216
Rubric
1 point for saying 3 is not a solution;
1 point for saying 2 is a solution; 2 points
for explanation with work

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes io the original content are the responsibility of the instructar.
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6.EE.6 Answers

1.B
2.B
3.C
4. A
5.B,D

6. Possible answer: 3(q — 5); g is the
number of quarters Marie has.

Rubric
1 point for expression; 1 point for
defining variable

1
7.a. =y+3
2.V

b. The value of x is 6%.

—;—(7)+3=£+3
=Z+§.
2 2
13 1
27%
Rubric
a. 1 point

b. 1 point for answer; 1 point for
reasonable work

8.a. d-11; dis the number of
daisies planted.
b. 7

Rubric

a. 1 point for expression; 1 point for
defining variable

b. 1 point
9. a. Adult tickets: a

Student tickets: 3a
Senior tickets: a — 8

b.a+3a+(@-8)=5a-8

¢. No, Elena only sells 67 tickets.
5(15)-8=75-8 =67

Rubric

a. 1 point for each expression

b. 0.5 point

c. 1 point for answer; 0.5 point for work

10. a. Let s be the total number of shells,

First pile: % shells

Second pile: %—10 shells

Third pile:
s (s s s
s—[§+(§—10D—s—(§+§—1OJ
=s—-(s-10)
=§—-5+10
=10 shells

b. The students collected 44 shells.
First way: Use the expressions from
part a. If the first pile contains
22 shells, the second pile contains
10 fewer than the first pile, or
22 — 10 = 12 shells. The third pile
contains 10 shelis. The total number
of shells the students collected is
the sum of 22, 12, and 10, or
22 + 12 + 10 = 44 shells.
Second way: Use the information
given about the first pile. The first pile
contains half as many shells as the
number the students collected. So, the
total number of shells is double the
amount in the first pile, 2 « 22, or
44 shells.

Rubric

a. 1 point for each expression; 1 point for
defining variable

b. 1 point for total shells; 1 point for each
method explanation
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6.EE.7 Answers

1.B
2.D
3.C
4. A

5. 3+x=9
3-3+x=9-3
Xx=6
Rubric

1 point for answer; 1 point for
reasonable work

6. The equation 3%+h=4% modeis

the situation.

3%+h=4%
YT

The flower grew g inch during the week.

Rubric
1 point for equation; 1 point for solving
the equation; 1 point for stating how
much the flower grew
7. Define n to be the other number in

the sum,

n+6=23
n+6-6=23-6

n=17

Rubric
1 point for answer; 1 point for equation;
1 point for reasonable work

8.a. 1.5r=72

b. 48 miles per hour
1.5r=72

1.5r 72
515
r=48
Rubric
a. 1 point
b. 1 point for answer; 1 point for
reasonable work

. First, convert % gallon to cups.

1 allon 16 cups
4 S 1 gallon

)= % (16) cups =4 cups

Define m to be the number of batches
of muffins Kirk made.

Kirk made & batches of muffins.
b. Define p to be the price per batch
of muffins.
6p=108
6p_108
6 6
p=18
Kirk earned $18.00 per batch.
Rubric
a. 1 point for unit conversion; 1 point for
equation; 1 point for answer; 1 point
for showing work
b. 1 point for equation; 1 point for
answer; 1 point for showing work
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10. Lauren added —g to both sides instead of

subtracting % from both sides.

4 13

5 5
4 4 13 4
5 5
9
5

Rubric
2 points for explanation of mistake;
1 point for correct answer; 1 point for
reasonable work
11.a. 7s =315
b. Adam saves $45 each week.
75=315
7s 315
77
s=45
c. Adam needs to save
$450 — $315 = $135 more to buy the
computer. Let w be the additional
number of weeks Adam must save,
45w =135
45w _135
45 45
w=3
Adam must save for 3 more weeks to
buy the computer.

Rubric

a. 1 point

b. 1 point for answer; 1 point for
reasonable work

c. 1 point for answer; 1 point for
equation; 1 point for reasonable work

Original content Copyright © by Houghton Mifflin Harcourt. Additions and changes to the original content are the responsibility of the instructor,
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6.EE.8 Answers

1.D

2.C

3.D

4.C

5 ACD

6. ¢ > 14.5, where c¢ is the total cost.

Rubric
2 points

7. The values graphed on the number line
are all numbers less than 11.
These values are the solutions of x < 11.
The inequality has infinitely
many solutions.

Rubric
1 point for description; 1 point for
inequality; 1 point for infinitely many

8.

-

2

-5 4-3-2-10 1

4
represents the solutions of x < 2.

represents the solutions of x < 2.

The solutions of both include all values
less than 2. The solutions of x < 2 do not
include 2, but 2 is a solution of x < 2.

Rubric
1 point for each graph; 1 point for
similarity; 1 point for difference

9. Keith wrote the correct inequality, but he
did not graph the solutions correctly.
Numbers less than 4 are to the left of
4 on the number ling, not to the right.

Rubric
1 point for identifying mistake; 2 points for
explanation

10. a. n< 20

11.

12.

h. m>5
E!I:""""\
Illlllll,
3 4 5 6 7 8 910 111213

¢. The solutions of n < 20 are all
numbers less than 20, and the
solutions to m > 5 are all numbers
greater than 5. The common solutions
of the inequalities are all numbers
between, but not equal to, 5 and 20.

Rubric

a. 1 point for inequality; 1 point for graph

b. 1 point for inequality; 1 point for graph

¢. 1 point for description; 1 point for
common values

a. The inequality d > 35, where d is the
number of miles Savannah commutes
to work, represents the situation.

20 22 24 26 28 30 32 34 36 3B 4D

¢. No, because 35 is not a solution of
d> 35,

Rubric

a. 1 point

b. 1 point

c. 1 point for answer; 1 point
for explanation

a. s=31

b. Liam wanis to save as much as or
more than $31.

¢. No, every solution does not represent
a realistic amount. The amounts will
get too large to be realistic amounts of
money for Liam to save. Also, Liam
cannot save anything smaller than a
penny, so the graph will not be a
solid line.

Rubric
a. 1 point
b. 1 point

¢. 1 point for answer; 2 points
for explanation
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6.EE.9 Answers

1.B
2.D
3.B
4.B,C, E

5. c=6b + 2.5; the dependent variable is
the total cost of the books ¢, and the
independent variable is the number of
books bought b. The total cost of the
books increases by $6.00 for each
book bought.

Rubric
1 point for equation;
2 points for explanation
6. The cost increases by $0.50 for every
pencil bought; ¢ = 0.5p.
(Also correct: The number of pencils
bought increases by 2 for every
$1.00 spent; p = 2¢.)
Rubric
1 point for relationship;
1 point for equation

7. a. The independent variable is {, and the
dependent variable is w. The number
of words typed increases by 52 over
every minute spent typing.

b.
J\W
160 .
120
-+ ..
80
P
40
[ >
123 45867889 ¢
c. w=>52t
Rubric
a. 1 point for each variable
b. 2 points
¢. 2 points
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A bakery sells 5 apple muffins for every 2 bran muffins sold. Which table shows this

Apple Bran
5 2
18 8
20 10
Apple Bran
20 4
30 6
40 8

In which set do all of the values make the inequality 2x — 1 < 10 true?

*_1_ ratio?
Apple Bran
5 2
A
10 12
20 22
Apple Bran
10 4
B
15 6
35 14
[
A {10, 15, 20}
B {5 7 9
C {4, 6, 8
D {2 3 4
Page 2



Triangle QRS, with vertices Q(6, -2), R4, ~7), and S(2,-5), is drawn inside a rectangle,
as shown below.

y
A
- > x
-8 6 4 -2 2 4 A ]
5 Q
P7
AT
NGV
R
-8
Y

What is the area, in square units, of triangle QRS?

A7 C 13
B 10 D 18

. W T R W W Y ]l - - o 0 o T A



13| A bookstore is selling books for $10 each. Which graph shows the relationship between
2274 the number of books, x, the store sold and the total amount of money, y, paid from
the book sales?

i BOOK SALES i BOOK SALES
° =)
& > 8 5
g £g 4
o= 3 g 8 3
E O =)
A 23T, ¢ 232
S 1 &
S | =
- X
0 1 2 3 4 65 0 10 20 30 40 50
Number of Books Number of Books
sold Sold
i BOOK SALES i BOOK SALES
o R \
£ 50 B 50
T % 40 ER 40
g % 30 é -‘_-o“ 30
B &2 20 D 2320
g 10 8 10—
° el |
> X
0 1 2 3 4 5 0 10 20 30 40 50
Number of Books Number of Books
Sold Sold

W o e L P W A 555 T o] 0 o8 o o o g A



iﬁ;l'.jGj George has $23 to spend on art supplies. He wants to buy markers, paper, and glue.
=1 If the total cost of the markers and paper is more than $14, which inequality
represents the dollar amount, p, George can spend on glue?

A p<9
B p>9
C p<37
D p>37

17 The net of a rectangular prism is shown below. The surface area of each face
=l is labeled.

24 5q. cm 18 sq. ¢cm 24 sq. cm 18 5q. cm

e ]

Which values represent the dimensions, in centimeters, of the rectangular prism?

A 12, 18, 24
B 3,4 8
C 3,46

D 2 9 12

S T T R A o e o S T e P g O O 0 VR G T W P B B G e Y O T A A e T T Y



1
Jason will use a —-gallon pitcher to fill an empty %«gallon water jug. How much

3
water will he need in order to completely fill the water jug?

A between 1 and 2 full pitchers
B between 2 and 3 full pitchers
1 .

C about 2 of a full pitcher

1
D about 2 of a full pitcher

- O A1 0 448 440 8 340 ok o o ot b S S S e e B A A e



52_5' Which pair of expressions is equivalent for any variable value greater than zero?

A 3(x+2) and 3x+ 2
B 4d+ 2e and 8d+ e
C f+f+f+g and 3fy

D b+b+3c and 2b+ 3¢

g;;26 What is the greatest common factor of 42 and 847

A7
B 21
C a2

D 84
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Grade 6 Mathematics Reference Sheet

CONVERSIONS

1inch = 2.54 centimeters
1 meter = 39.37 inches

1 kilometer = 0.62 mile
1 pound = 16 ounces

1 cup = 8 fluid ounces
1pint = 2 cups

1 mile = 5,280 feet 1 pound = 0.454 kilogram 1 quart = 2 pints
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Right Rectangular Prism

V = BhorV = lwh
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TIPS FOR TAKING THE TEST
Here are some suggestions to help you do your best:
+ Read each question carefully and think about the answer before choosing your response.

* You have been provided with mathematics tools (a ruler, a protractor, and a calculator)
and a reference sheet to use during the test. It is up to you to decide when each tool and
the reference sheet will be helpful. You should use mathematics tools and the reference
sheet whenever you think they will heip you to answer the question.



29

f O—

The surface area, S, of a right rectanguiar prism with length /, width w, and height h
can be found using the formula below.

S=2(w+ wh+ hl)

What is the surface area, in square inches, of a prism with a length of 12 inches,
a width of 9 inches, and a height of 2 inches?

A 300
B 258
C 150
D 92

Which point on the number line below represents the number opposite the

number —5-1?
2

P Q R S
€
5-4-3-2-101 2 3 45
A point P
B point Q
C point R
D point S



2_?:_6_ A triangle has vertices on a coordinate grid at points J(—1, 5), K, 5), and L(4, —2). What
——— is the length, in units, of KL?

A 3
B 7
Cs8
D N"

37| Rosa has a goal of running a total of 100 miles this month. Each day that she ran, she
‘ ran 5 miles. Which expression could Rosa use to determine how many miles she has left

to run after running for d days?

A 100 - 5d
B 5d+100
c 100

5d
D 5d



32\40 Steve ordered plastic cases for storing his baseball cards. Each case has a length
td OF 12 centimeters, a width of 6.5 centimeters, and a height of 1.25 centimeters.
What is the volume, in cubic centimeters, of one baseball card case?

A 395
B 975
C 185
D 202.25

4] Kim rode her bicycle 135 miles in 9 weeks, riding the same distance each week. Eric
i=i rode his bicycle 102 miles in 6 weeks, riding the same distance each week. Which
statement correctly compares the number of miles per week they rode?

Eric rode 2 more miles per week than Kim rode.
Kim rode 3 more miles per week than Eric rode.

Kim rode 11 more miles per week than Eric rode.

O N w

Eric rode 17 more miles per week than Kim rode.



‘43 The two expressions below are equivalent.
[ 3w g

y25+7)+y—2
10.5y — 2

Which statement best explains why the expressions are equivalent?

A The expressions have the same value for any value of y.
B The expressions have the same value for only whole number values of y.
C The expressions have the same value only when y is an odd number.

D The expressions have the same value only when y is an even number.

44 Two whole numbers have a least common multiple of 60.

* Each number is less than or equal to 12.
* The greatest common factor of the two numbers is 2.

What are the two numbers?
A 6 and 10
B 5 and 12

C 10 and 12

D 12 and 15



Which coordinate grid shows point M plotted at (4, 3)?

¢
2

A A
7 74M
6 6

A5 c5
4 4
3 3
2 2
1 1

M)x > X

0 123 45 6 7 0 12 3 456 7
y h 4
A A
7 7
6 6

Bs Ds "
4 4
3 M 3
2 2
1 1

»> X x

¢ 12 3 45 6 7 0 1 23 45 86 7

] WA W A A A AN U el ] A 221 8 50 S A A A Bl AR b A e e o o o o 0



;5}]" A sandwich shop sells sandwiches for $5.95 each, including tax. The shop received
7] a total of $71.40 from the sales of sandwiches one afternoon. Which equation can

be used to determine the number of sandwiches, x, sold by the sandwich shop
that afternoon?

A 585+x=7140
B 595+ 7140=x
C 595x=71.40

D 5985+ x=7140

" T T V0 oy o D 1 4 Y (8 A8 ok ok b ol e A W o e
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TIPS FOR TAKING THE TEST
Here are some suggestions to help you do your best:
* Read each question carefully and think about the answer before writing your response.

* You have been provided with mathematics tools (a ruler, a protractor, and a calculator)
and a reference sheet to use during the test. It is up to you to decide when each tool and
the reference sheet will be helpful. You should use mathematics tools and the reference
sheet whenever you think they will help you to answer the question.

» Be sure to show your work when asked.



553 The formula below is used to convert a temperature in degrees Celsius, C, to a
71 temperature in degrees Fahrenheit, F.

F=18C+32

The high temperature in a mountain city was 15°C. What was the high temperature in
degrees Fahrenheit?

Show your work.

Answer °F




It is recommended that one fire extinguisher be available for every 6,000 square feet

in a building. Write and solve an equation to determine x, the number of fire
extinguishers needed for a building that has 135,000 square feet.

Show your work.

Answer

fire extinguishers



.57 The area of Brian's rectangular garden, in square feet, can be found by using the
| expression 6(2x + 5y). Use the distributive property to write an equivalent expression
for the area of Brian’s garden.

Equivalent expression

Use your equivalent expression to find the area of Brian's garden, in square feet,
if x=3 and y=4,

Show your work.

Area square feet




59 Jimmy and his family are on their way to visit some family friends who live
L-0 780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

* First day: 4 hours at an average speed of 60 miles per hour
* Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 60 miles per hour, how many more
hours will it take for them to reach their family friends’ home?

Show your work.

Answer hours




61 The table below shows the elevations at which different artifacts were found during an
=] archeological dig.

Artifact Elevation
arrow head 15 feet above sea level
bone 721 feet above sea level
clay bowl sea level
necklace 462 feet above sea level
woven basket 1,200 feet below sea level

Write the name of each artifact and the elevation at which each artifact was found
using a positive integer, zero, or negative integer.

Explain how you determined if an elevation required a positive integer, zero, or
negative integer.

--------------------------------------------------------------------------------------------------------
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applications.
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Session 1

TIPS FOR TAKING THE TEST

Here are some suggestions to help you do your best:
* Read each question carefully and think about the answer before making your choice.

* You have been provided with mathematics tools (a ruler and a protractor) and a
reference sheet to use during the test. It is up to you to decide when each tool and the
reference sheet will be helpful. You should use mathematics tools and the reference
sheet whenever you think they will help you to answer the question.



4 The relationship between Robert’s age, r, and Julia’s age, j, can be represented by the
.| equation shown below.

F=j4+3

Which table of values represents the relationship between Robert’s age and Julia’s age?

POSSIBLE AGES POSSIBLE AGES
Robert’s Age, Julia's Age, Robert's Age, Julia’s Age,
r {years) j (years) r (years) j (years)
9 12 9 6
15 18 15 12
21 24 21 18
POSSIBLE AGES POSSIBLE AGES
Robert's Age, | Julia’s Age, Robert’'s Age, | lJulia’s Age,
r {years) j (years) r (years) j {years)
9 3 9 27
15 5 15 45
21 7 21 63
GO ON



{ e

Joe walks on a treadmill at a constant rate. The equation below describes the

;],E relationship between ¢, the time he walks in hours, and d, the distance he walks
in miles.
d = 4f

Which graph represents the relationship between the amount of time Joe walks and
the distance he walks?

d d
A A
-~ 8 8
& 1 RS
£ 6 / £ 6
A S C &
é 4 é 4
o / A
/
> 1 —t) f
0 2 4 6 8 0 2 4 6 8
Time (hours) Time (hours)
d d
A A 7
9 3
E 6 :E: 6
s 8 5 8
é 4 é 4
Q2 - a2
/.—"
- ¢ - ¢
0 2 4 6 8 0 2 4 6 8
Time (hours) Time (hours)

Page 9



22 A shape is made of 12 right triangles of equal size. Each right triangle has a base of

A

10

60

120

240

4 cm and a height of 5 cm. What is the total area, in square centimeters, of the shape?



Mark graphed points on the coordinate plane below to represent the locations of his
school and a bank.

School Bank

= N W b U O~

» X
0 1 2 3 4 5 6 7

Mark wants to add the location of the library on the coordinate plane. The distance from
the library to the school is the same as the distance from the bank to the school. Which
ordered pair could be the coordinates of the library?

A 249
B (2,8)
cC 449
D (68



-30"_ A machine fills boxes at a constant rate. At the end of 35 minutes, it has filled
=1 5 boxes. Which table represents the relationship between the number of minutes
the machine fills boxes and the number of boxes it has filled?

FILLING BOXES

FILLING BOXES

Time Boxes
(minutes) Filled
7 1
14 2
21 3
28 4

FILLING BOXES

Time Boxes
{minutes) Filled
1 7
2 14
3 21
4 28

FILLING BOXES

Time Boxes
(minutes) Filled
5 1
10 2
15 3
20 4

Time Boxes
(minutes) Filled
1 5
2 10
3 15
4 20
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Session 2
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TIPS FOR TAKING THE TEST

Here are some suggestions to help you do your best:

* Read each question carefully and think about the answer before making your choice or
writing your response,

* You have been provided with mathematics tools (a ruler, a protractor, and a calculator)
and a reference sheet to use during the test. It is up to you to decide when each tool and
the reference sheet will be helpful. You should use mathematics tools and the reference
sheet whenever you think they will help you to answer the question.

» Be sure to show your work when asked.



134 Which number line shows a graph of the inequality x > —257

353 The coordinates of the points below represent the vertices of a rectangle.

o P: (2,2)
Q: (6,2)
R: (6,5)
S: (2,5

What is the perimeter, in units, of rectangle PQRS?

A 8

B 12
C 14
D 16



»;*39 An art teacher has a total of 3 pound of clay. The teacher puts g pound of clay
at each work station. The teacher sets up an equal number of work stations in
each of 2 classrooms. How many work stations does the teacher set up in each

of the classrooms?

Show your work.

Answer work stations




A factory adds three red drops and two blue drops of coloring to white paint to make
each pint of purple paint. The factory will make 50 gallons of this purple paint. How
many drops of red and biue coloring will the factory need in the 50-gallon batch of
purple paint?

Show your work.

Answer red drops; biue drops




z; Point W is located at (-2, 3) on a coordinate plane. Point W is reflected over the x-axis
| to create point W'. Point W' is then reflected over the y-axis to create point W”. What

ordered pair describes the location of point W”?

Answer Point W” ( . )

Explain how you determined your answer.




45 Cube-shaped blocks are packed into a cube-shaped storage container,
o X

1
* The edge length of the storage container is 25 feet.

1
* The edge length of each block is 5 the edge length of the storage container.

What is the volume, in cubic feet, of one cube-shaped block?

Show your work.

Answer cubic feet
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